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The following table shows the percentage distribution of people in a city working in the night shift, and the

percentage distribution of females among them in six different industries, namely, IT, Sports, Call centre, Sales,
Banking and Chemicals, respectively.
Total number of people in a city working in night shift is 80500. Based on the data in the table, answer the
question :

Industry-wise Percentage of People working in Night shift

Dastribution (%) of people | Distribution (%0) of females
Industry working in the Night Shift | among the people working in
(out of 80500) the Night Shift.
IT 12% 20%
Sports 18% 20%
Call centre 32% 45%
Sales 8% 60%
Banking 14% 40%
Chemicals 16% 15%

FFafataa ot & ve wst H amsdl, Wa, oa S, fawya, §f 9 W THe g -y 3 o
3 uret § SrRd dfeadl &1 widwd faaeer iR 3= afgarsi o1 ufawd oo swfar man € | wee |
3 Ul § SRiRa afaddl &1 $a ST 80500 § | ATie] 3 Wed SHidhs! & SMUR IR UY &1 30 alforg -

3 Ut ¥ rRa sufaqdl &1 IereR e

IF U e | iy urcl! § s
I | efadat @1 osoo F |oofdaut o Afgame

T e (o) 1 Faau (%)
amedt 2% 20%
T 18% 20%
a; q 329% 45%
IEERS] 8% 60%
Eil 14% 40%
TERA 16% 15%

What is the ratio of the number of males to the number of females working in the night shift from the Call
Centre industry ?
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The following table shows the percentage distribution of people in a city working in the night shift, and the

percentage distribution of females among them in six different industries, namely, IT, Sports, Call centre, Sales,
Banking and Chemicals, respectively.
Total number of people in a city working in night shift is 80500. Based on the data in the table, answer the
question :

Industry-wise Percentage of People working in Night shift

Distribution (%0) of people | Distribution (%) of females
Industry working in the Night Shift | among the people working in
(out of 80500) the Night Shaft.
IT 12% 20%
Sports 18% 20%
Call centre 32% 45%
Sales 8% 60%
Banking 14% 40%
Chemicals 16% 15%
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What is the approximate average number of females working in the night shift from all the industries together
Y
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The following table shows the percentage distribution of people in a city working in the night shift, and the
percentage distribution of females among them in six different industries, namely, IT, Sports, Call centre, Sales,
Banking and Chemicals, respectively.
Total number of people in a city working in night shift is 80500. Based on the data in the table, answer the
question :

Industry-wise Percentage of People working in Night shift

Distribution (%0) of people | Distribution (%) of females
Industry working in the Night Shift | among the people working in
(out of 80300) the Night Shift.
IT 12% 20%
Sports 18% 20%
Call centre 32% 45%
Sales 8% 60%
Banking 14% 40%
Chemicals 16% 15%
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What iz the total number of males working in the night shift from all the industries together ?

. 56594
. 51576
57356
53774
1) 1
(2) 2
(3) 3
(4) 4

it I 1 e I urelt § Srikd I3u #1 oo e ot & 2

. 56594
.51576
. 573356
53774
@) 1
(2 2
(3) 3
(4) 4

| SR

]

[ S

IS Y

1[Option ID=30509] Question Description : general_paper_genarel paper_set 25_english_q3
2[Option ID=30510]
3[Option ID=30511]
4[Option ID=30512]

Sl. No.4
QBID:25201004




The following table shows the percentage distribution of people in a city working in the night shift, and the
percentage distribution of females among them in six different industries, namely, IT, Sports, Call centre, Sales,

Banking and Chemicals, respectively.
Total number of people in a city working in night shift is 80500. Based on the data in the table, answer the

question :

Industry-wise Percentage of People working in Night shift

Distribution (%0) of people | Distribution (%) of females
Industry working in the Night Shift | among the people working in
(out of 80300) the Night Shift.

IT 12% 20%

Sports 18% 20%

Call centre 32% 45%

Sales 8% 60%

Banking 14% 40%
Chemicals 16% 15%
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The number of females working in the night shift form the sports industry is % of the total number of

people working in the night shift from all the industries together ?
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The following table shows the percentage distribution of people in a city working in the night shift, and the
percentage distribution of females among them in six different industries, namely, IT, Sports, Call centre, Sales,
Banking and Chemicals, respectively.
Total number of people in a city working in night shift is 80500. Based on the data in the table, answer the
question :

Industry-wise Percentage of People working in Night shift

Distribution (%0) of people | Distribution (%) of females
Industry working in the Night Shift | among the people working in
(out of 80300) the Night Shift.
IT 12% 20%
Sports 18% 20%
Call centre 32% 45%
Sales 8% 60%
Banking 14% 40%
Chemicals 16% 15%
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What is the difference between the total number of males and the total number of females working in the night
shift from all the industries together ?
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In which of the following ways Padlet (online tool) can be used ?

A. For creating virtual wall

B. For uploading the files

C. For collaborative work

D. For posting the pictures and texts

Choose the most appropriate angwer from the options given below :

1. Aand D Only
2.B and C Only
3. Cand D Only
4. A B.CandD
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2[Option ID=30522]
3[Option ID=30523]
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Sl. No.7
QBID:25201007

Given below are two statements :
Statement I : GSAT-30 satellite is used by Swayamprabha for the programme telecasts on the DTH channels.
Statement IT : The Programs of Swayamprabha are available on 24<7 basis.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct.

2. Both Statement I and Statement II are incorrect.

3. Statement [ is correct but Statement II is incorrect.
4. Statement I 1s incorrect but Statement II is correct.

1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=30525] Question Description : general_paper_genarel paper_set 25_english_q7
2[Option ID=30526]
3[Option ID=30527]
4[Option ID=30528]
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Which period of learning shows no improvement in learning curve?

Irregular progress
Spurts

3. Plateau

4. Initial Stage
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1[Option ID=30529] Question Description : general_paper_genarel paper_set 25_english_q8
2[Option ID=30530]
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According to Herbart, arrange the elements of Pedagogy of teaching and learning in a sequence ?

A. Preparation
B. Association
C. Presentation
D. Application
E. Generalisation

Choose the correct answer from the options given below :

.B,A,C;D.E
.B.D
E.D
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2[Option ID=30534]
3[Option ID=30535]
4[Option ID=30536]
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Given below are two Statements :
Statement I : Entry behaviour implies the activities and responses of the learners after the completion of the

teaching -learning process.
Statement II : Terminal behaviour implies the activities of the learners prior to the teaching-learning process.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct.

2. Both Statement I and Statement II are incorrect.

3. Statement I 1s correct but Statement I 1s incorrect.
4, Statement I 1s incorrect but Statement II is correct.

1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=30537] Question Description : general_paper_genarel paper_set 25_english_q10
2[Option ID=30538]
3[Option ID=30539]
4[Option ID=30540]
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When in a process of reasoning observation is followed by theory, hypotheses and interpretation, that approach
to research is known as

1. Formulative
2. Standardised
3, Inductive
4. Deductive
(1) 1
(2) 2
(3) 3
(4) 4
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3[Option ID=30543]
4[Option ID=30544]
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If research is done to find out behaviours and attitudes by analysing existing records and other materials, it is
known as

1. Past research
2. Non-observational research
3. Non-participant research
4. Archival research
(1) 1
2) 2
3) 3
(4) 4
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1[Option ID=30545] Question Description : general_paper_genarel paper_set 25_english_q12
2[Option ID=30546]

3[Option ID=30547]
4[Option ID=30548]
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If the dress of a person does not reflect or predict his voting behaviour, the assumption is of

1. Positive correlation
2. Zero correlation
3. Partial correlation
4. Fragmented correlation
(1) 1
(2) 2
(3) 3
(4) 4
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2[Option ID=30550]
3[Option ID=30551]
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Which of the following are advantages of web-based research ?

It saves time.

The participant can engage in the task at his /her convenience.
The data collection is automatic and accurate.

It demands a small sample.

The participants are heavily paid.

mO 0w

Choose the correct answer from the options given below :

(4) 4
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1[Option ID=30553] Question Description : general_paper_genarel paper_set 25_english_q14
2[Option ID=30554]
3[Option ID=30555]
4[Option ID=30556]
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Given below are two statements :
Statement I : Survey research has the advantage of sampling a large number of respondents who are selected

for research.
Statement IT : Researchers, to administer their own surveys, do not have many options except to do it
themselves.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement I are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement IT is true.

1) 1

(2) 2

(3) 3

(4) 4




RSBy Rume:

HYT 1 : AU LY H I Sraraararst &1 3ifde go! I § wfaee o1 a1y gidn g, fore 9y & foag
Tg- faran g |

YT 11 : AT TG0 P A& &1 Y&y B3 ael Yddiei & JHe WY gRISY HH ©] 81 IR D
IEEgR EHASEE]

IRIF HYF o AP 1, Aid [2U U fdeed] I Tgl 3R &1 99 HIfvig:

PYISIRIEH GAE |

HYA AR IS ST |

FYT 1 I 8. AP HYT I 3T ¢ |

HYT1 AT 8, AT FUT I TG |

1) 1

) 2

(3) 3

(4) 4

e L kD =

1[Option ID=30557] Question Description : general_paper_genarel paper_set 25_english_q15
2[Option ID=30558]
3[Option ID=30559]
4[Option ID=30560]
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People perceive the communicated messages according to their

1. Official status
2. Cultural values
3. Imagined influences
4. Semantic gaps
(1) 1
2) 2
(3) 3
4) 4
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(2) 2
(3) 3
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1[Option ID=30561] Question Description : general_paper_genarel paper_set 25_english_q16
2[Option ID=30562]

3[Option ID=30563]
4[Option ID=30564]
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The doctrine of individualism, a political concept in communication, is identified as a/an

1. Formula
2. Economic indicator
3. Institutional background
4, Ideology
(1) 1
2) 2
(3) 3
(4) 4
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1[Option ID=30565] Question Description : general_paper_genarel paper_set 25_english_q17
2[Option ID=30566]

3[Option ID=30567]
4[Option ID=30568]
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The behaviouristic model of communication asserts that

Behaviours are learnt in social situations

Behaviours are learnt in external situations only

The mental state of individual is important

. The mental state of individual is unimportant

Communication techniques for cultural change include both verbal and non-verbal messages.

mOowe

Choose the most appropriate answer from the options given below :

A.B, C Only

B. C.D Only
3. A, C, E Only
4.C,D,E Only

1) 1

2) 2

3) 3

4) 4
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1) 1
(2) 2
3) 3
4) 4
1[Option ID=30569] Question Description : general_paper_genarel paper_set 25_english_q18
2[Option ID=30570]

3[Option ID=30571]
4[Option ID=30572]
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The elements as related to communication in the ancient paradigm of everyday life are

Physiological
Economic
Ethical
Self-realisation
Ego clashes

mO 0w

Choose the most appropriate answer from the options given below :

1.A,B.C,D Only
2.B.C, D, E Only
3.A.C.D,E Only
4. A, B,D,E Only

1) 1

() 2

3) 3

(4) 4
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1[Option ID=30573] Question Description : general_paper_genarel paper_set 25_english_q19
2[Option ID=30574]
3[Option ID=30575]
4[Option ID=30576]
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Given below are two statements :
Statement I : By supplying facts and opinions, mass media enable the audience to make decisions.
Statement IT : Mass media should supress facts and opinions in order to influence the government decisions.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement I are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II s false.
4. Statement I 1s false but Statement II 1s true.

1) 1
(2) 2
3) 3
(4) 4
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(1) 1

(2) 2

3) 3

4) 4

1[Option ID=30577] Question Description : general_paper_genarel paper_set 25_english_q20
2[Option ID=30578]

3[Option ID=30579]
4[Option ID=30580]
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A, B, C and D are all distinet individuals. The details of their relationships are given as :

1. Ais the daughter of B
ii. Bisthe sonof C
111, C 1s the Father of D

Which of the following statements is true ?

1. Cis the Uncle of A
2.D and B are cousing
3. A is the daughter of D
4, If P is the daughter of B, then A and P are sisters.
(1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=30581] Question Description : general_paper_genarel paper_set 25_english_q21
2[Option ID=30582]
3[Option ID=30583]
4[Option ID=30584]

Sl. No.22
QBID:25201022

In a group of 2100 persons comprising of players and their coaches, there is a coach for every fourteen
players. How many coaches are there in the group ?

. 145
. 120
. 140
2150
1) 1
(2) 2
(3) 3
(4) 4

2100 R & TP Ui 1 fEaTS! 3R 3% U4 (@P19) © | 90 dis [aansdl i s URIg® ¢ |
T § 3 o wide &

b=

da L

145
120
. 140
. 150

R




(1) 1

(2) 2

3) 3

4) 4

1[Option ID=30585] Question Description : general_paper_genarel paper_set 25_english_q22
2[Option ID=30586]

3[Option ID=30587]
4[Option ID=30588]

Sl. No.23
QBID:25201023

What number would replace question mark (?) in the series given below ?
1.5,:11,.19,29:4] 552

1.71
2.96
3. 69
4. 67
1)1
(2) 2
(3) 3
(4) 4

A &1 7TE gEan § &1 dl W= 9Yad S 96 (2) B Hiawiitd sl 2

1,5, 11, 19, 29, 41, 55, ?

.71
.96
. 69
.67
1) 1
(2) 2
3) 3
(4) 4

R

1[Option ID=30589] Question Description : general_paper_genarel paper_set 25_english_q23
2[Option ID=30590]
3[Option ID=30591]
4[Option ID=30592]

Sl. No.24
QBID:25201024

Karan was born 3 years after his parent's marriage. His father is 6 years older than his mother but 26 years
older than Karan who is 12 years of age as on today. At what age did his mother get married ?

. 20 years
. 19 years
. 17 years
. 18 years
(1) 1
(2) 2
(3) 3
(4) 4

A B o IHD A1q1-MUadl & faaTg & 3 T THTd 31 2T | 39 a1 S9a ! A1 9 6 99 99 g URq d
FRAY, 2600958, S A D ARG H 12T I S P15 | IUD! A1 $ [aaTe o9 3G T g3 AT 2

b2 =

da L

20ay
10Ty
1798
18 @
) 1
) 2
@3) 3
(@) a

e L B2 =

1[Option ID=30593] Question Description : general_paper_genarel paper_set 25_english_q24
2[Option ID=30594]




3[Option ID=30595]
4[Option ID=30596]

Sl. No.25
QBID:25201025

A student was asked to divide half of a number by 5 and the other half by 3 and then add the two quantities.
Instead of doing all this the student divides the given number by 4 which results into 5 short of the correct

value. What 1s the initial number ?

1. 300
2. 400

1350

450

1) 1

(2) 2

(3) 3

4) 4

U faaelf 3 o e & 319 W D1 5 J fauTioid 3 3R g8 3¢ Y 1 3 F fauIfid X aoemd
ST A3 BT TR DI D [0 Sel 741 | T8 Fa P & R U Gl = ved T2 3l 4  fauniod
faran foraepT ofvoT 98t 0 9 5 0 o7 | SR SenPH A g 2

e ta

300
400
. 350
450

O

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30597] Question Description : general_paper_genarel paper_set 25_english_q25
2[Option ID=30598]

3[Option ID=30599]
4[Option ID=30600]

Sl. No.26
QBID:25201026

Which logical fallacy is committed in the following argument - "Atheists have not proven that God does not
exist. Therefore we can conclude that God exists".

1. Ad hominem
2. Appeal to Ignorance
3. Hasty Generalisation
4, Slippery Slope

1) 1

(2) 2

3) 3

(4) 4

Fafeiad gidd o &1 91 difdhd aN § - «AIadariadl - U8 THTI gl [$a1 ¢ [ $3R &1 Sii&rd g1
2 | 34, g4 e fora g% € [ SR a1 & € 1»

1. ot e & forg (s gifiem)
2. RIS IR (Sfier g SaR
3. SHTGFRT FrHEDR
4. Toaeged ear

1) 1

(2) 2

3) 3

4) 4

1[Option ID=30601] Question Description : general_paper_genarel paper_set 25_english_q26
2[Option ID=30602]
3[Option ID=30603]
4[Option ID=30604]

Sl. No.27
QBID:25201027




"Since all professors are competent. and no competent people are underpaid. Therefore no professors are
underpaid”. Which formal fallacy is committed in the above argument ?

1. Undistributed middle
2. Affirming the consequent
3. Denying the antecedent
4. Existential fallacy

(1) 1

(2) 2

(3) 3

4) 4

et T} TTORR T §, SiR Bis 2Tt e safa sreadafo el & | SUfe, 315 1 iR sraddfie
it I IRE g d o W ab-aN g 2

1. 3T B
2. Bedl - [dy=
3. gqard-fuy
4, Y ETARS IH-
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=30605] Question Description : general_paper_genarel paper_set 25_english_q27
2[Option ID=30606]
3[Option ID=30607]
4[Option ID=30608]

Sl. No.28
QBID:25201028

Which of the following statements are logically equivalent ?

A. No philosophers are underpaid scholars.

B. All Philosophers are non-underpaid scholars.

C. No underpaid scholars are philosophers.

D. All non-underpaid scholars are non-philosophers.

Choose the correct answer from the options given below :

1. A, B. and C Only
2.CanD Only
3.B and D Only
4. A, B and D Only
1y 1
(2) 2
(3) 3
(4) 4

Fafafad § 93 9 $uF dlftd w9 8 9g § 2

A, @i i SR seuddi-® AAarel ¢ |
B. i g¥RIREl TR-3rudd-@ s |

c. @5l u-adHe ar SRR TR ¢ |
D. I TR-3c9dafie AT TR-SRURAT® |

g feu Tu f@medl § O 95! Ik &1 90 Bifod

1[Option ID=30609] Question Description : general_paper_genarel paper_set 25_english_q28
2[Option ID=30610]
3[Option ID=30611]
4[Option ID=30612]




Sl. No.29
QBID:25201029

Which of the following statements can neither be both true, nor can they both be together false ?

A, All bread is nutritious.

B. Some bread is nutritious.

C. Some bread is not nutritious.
D. No bread is nutritious.

Choose the correct answer from the options given below :

1. Aand B Only
2. Aand C Only
3. Aand D Only
4. C and D Only

1) 1

(2) 2

(3) 3

(4) 4

fFofed g P Y HYTTd Sl THUY T 8 Tdhd ¢ SR A 4 3F1 U 91y 3T 8l 9dd & 2

A WRESUNEE |

B. POSSUNTE I

C. PEISUND TRl g |
D. P HSsSUNEE S |

i feu T fawedl § O U5l Ik @1 904 Sifog :
1. Hdd A IR B

1[Option ID=30613] Question Description : general_paper_genarel paper_set 25_english_q29
2[Option ID=30614]
3[Option ID=30615]
4[Option ID=30616]

Sl. No.30
QBID:25201030

According to classical Indian school of Logic (Nyiya) which of the following statements commits the fallacy

of viruddha ?

1. Sound is eternal, because it is produced.
2. Wherever there is fire, there is smoke.

. The hill has fire because it is knowable.
. Sound is eternal because it is audible.
1) 1

(2) 2

(3) 3

(4) 4

YA YR ah-1d (A1) F FER FEffEa § A fea sua § g adh-am e 2

1. @af Y € P Te IaF gl ¢ |
2. et Bl A R, ael Yai § |
3.9ge s e Aifs ue Ju R |
4 A YT TP T 4T |

1) 1

(2) 2

(3) 3

(4) 4

PN SR ]

1[Option ID=30617] Question Description : general_paper_genarel paper_set 25_english_q30
2[Option ID=30618]
3[Option ID=30619]
4[Option ID=30620]




Sl. No.31
QBID:25201031

Given below are two statements :
Statement I : ASCIL, a character -encoding scheme, is an acronym for American Standard Code for Intelligent

Information.
Statement II : (37.25),, = (100101.01),

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement [ and Statement II are false.
3. Statement I is true but Statement II s false.
4, Statement I is false but Statement IT is true.

(1) 1

(2) 2

(3) 3

(4) 4

= <1 P fRu g ®:

BYTI: YT T 35 318 (ASCID). (&5 Teds 31 @1 o] &, Sl SHRESH LUSS s BR geleioit
TP PIAREN T= § |

HYUTIL : (37.25), = (100101.01),

SWRIdd YA & 3l H, =i 3T 7Y fdpedi & Hel Stk &1 9g4 Difeie:

1L FYEIARNIAIIE |

2. FYF I AR IS ST E |

3. PYT 1 Id &, A DYUTI1 3T E |
HYT1 AT 8, Wb FUT I TG |
(1) 1

) 2

(3) 3

(4) 4

iy

1[Option ID=30621] Question Description : general_paper_genarel paper_set 25_english_q31
2[Option ID=30622]
3[Option ID=30623]
4[Option ID=30624]

Sl. No.32
QBID:25201032

Given below are two statements :

Statement I : An Operating System controls peripherals and provides protection against viruses.
Statement I : In word processing and desktop publishing, the terms portrait and landscape refer to Page
Layout.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
. Statement I 1s true but Statement II 1s false.
. Statement I is false but Statement II 1s true.
(1) 1
(2) 2
(3) 3
(4) 4

EIECIERIC GRS

BYT 1 : AR ey IrRmfaaal Frafd H3ar & 3R aoRa! I QReTHeH TRl ¢ |
FYT 11 : I3 TR 3R Shelg ufeafin & dide 3R ds%py U U aaSe 4 9o ® |
JURIE Py o 3{Taiep 4, i (ST U [depedl T Hel STR BT 99 BISIT:

HYFAI AR IS TIE |

HYA AR IS 3T |

FYT 1 I 8. AP HYT I 3T ¢ |
HYT1 AT 8, AP FUT I TG |
1) 1

(2) 2

(3) 3

(4) 4

e

e L kD =

1[Option ID=30625] Question Description : general_paper_genarel paper_set 25_english_q32




2[Option ID=30626]
3[Option ID=30627]
4[Option ID=30628]

Sl. No.33
QBID:25201033

In computers, which of the following file formats contains exclusively the text file formats ?

PDF
CSsV
GIF

RTF
TXT

mO 0wy

Choose the correct answer from the options given below :

1. A, B, and E Only
2.B.D and E Only
3.B.C and D Only
4. A and C Only

1 1

(2) 2

3) 3

4) 4

FugeRt B, Fafafaa 3 & o1 3 wEa Bl Sad Re BIgd BTiHc $I Sfafdy T @ 2

UiSIu® (PDF)
TIedt (csv)
AU (GIF)
3REITB (RTF)
. dgawdl (TXT)

=i faU U faedl & ¥ Il 3Tk &1 98- Bifold -

1. HaAA, B3R E
. $adB, D 3IIRE
. FadB, C IRD
4. HATAARC
1) 1
) 2
3) 3
@) 4

mYNwp

L kJ

1[Option ID=30629] Question Description : general_paper_genarel paper_set 25_english_q33
2[Option ID=30630]
3[Option ID=30631]
4[Option ID=30632]

Sl. No.34
QBID:25201034

In the context of MS-PowerPoint, a presentation software, which of the following statements are true 7

A. Objects on the slide that hold text, pictures and more are called Placcholders.

B. MS-PowerPoint automatically opens with Windows Operating System

C. Aview that displays the slides of a presentation as miniature representations of the slides is called Slide
Sorter view.

Choose the correct answer from the options given below :

1. Aand B Only
2. Aand C Only
3.Band C Only
4. A BandC

(1) 1

@) 2

3) 3

4) 4




TR U AT aaR UH TH-UTR Wise & 484 8, FaRifad A 4 s Y Sy ¥l 8 2

A WS W o, foH ure, foa ud eifiies axqt gl €, @ @usicss deand ¢ |

B. [dSIS oMRfc Ried & 91y UH UF - UidRW@Ize Wd: Gd oial g |

C. U% O WSSl & AU UG & 0 H TEIPR0 DI Wgs| Bl TaiRid PRl 6, 39 Wes
TR AP g |

1 feu Tt faedl o ¥ 9gl 3Tk &1 98 DI :

1. Hdd A IR B
2. HATAARC
3. PddB AR C
4.AB3IRC

1) 1

() 2

(3) 3

) 4

1[Option ID=30633] Question Description : general_paper_genarel paper_set 25_english_q34
2[Option ID=30634]
3[Option ID=30635]
4[Option ID=30636]

Sl. No.35
QBID:25201035

Given below are two statements :
Statement I : Fibre-optic cable makes use of light pulses to transmit data and is most appropriate to connect

computers in a small building.
Statement IT : URL is the text used by web browsers to locate a web address on the Internet.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are True.
2. Both Statement I and Statement II are False.
3. Statement I 1s true but Statement II 1s false.

4, Statement I is false but Statement I is true.

1) 1
(2) 2
3) 3
(4) 4

TR G e fumE:

FYT 1 : PeaR-3HUF Had, STeT G0 & 7T TPT=Ras ST HaH Hal ¢ R SIE ¥a el i
WS+ (e & fory Faffie Suga sl § |

FHYF 11 : IIRUTA(URL) SEIC UR 8 U H D1 Ual T o foU 39 SISoR] gRI Vgad U186 (CRe) Il © |
IR FYF & ATAF 1, -d 4T U fa@ed] H Ugl 3R &1 99 B

HYFTIAR NS A E |

CHUA AR I EHT ST |

PYT 1T, AP PUT I ITA R |
YT TS, AT PUT I TS |
1) 1

(2) 2

3) 3

(4) 4

B O

1[Option ID=30637] Question Description : general_paper_genarel paper_set 25_english_q35
2[Option ID=30638]
3[Option ID=30639]
4[Option ID=30640]

Sl. No.36
QBID:25201036




What is the correct sequence of Biomagnification due to contaminated water body?

A. Humans

B. Zooplanktons
C. Bacteria

D. Fish

Choose the correct answer from the options given below :

[T
o
W0
@

s}

L

1)1
(2) 2
(3) 3
(4) 4

g Yd SATREl & BRI G SAIGE $I Tg! HH B T ¢ 2

A T4
B. WIUrias
c. SEEIE (Sitary)
D. Hodl
i feu T fawedl § ¥ Ug! Ik @1 904 Hifog :
1K Con B
2.C. B DA
3.A,D.B,C
4.B,C,D,A
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=30641] Question Description : general_paper_genarel paper_set 25_english_q36
2[Option ID=30642]
3[Option ID=30643]
4[Option ID=30644]

Sl. No.37
QBID:25201037

Aeration technique of water treatment is used for the removal of

1. Persistant Organic Pollutants (POPs)
2. Volatile Organic Compounds (VOCs)
3. Hardness
4. Metals

(1) 1
2) 2
3) 3
(4) 4

SaLY ®1 ara- wfafd &1 yae FefafEa 5 9 159 gen & e fearwman € 2

1. FRRIT e ugue (s
2. AMBR HEFS i @3
3. BRIl
4.41d
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=30645] Question Description : general_paper_genarel paper_set 25_english_q37
2[Option ID=30646]

3[Option ID=30647]
4[Option ID=30648]

Sl. No.38
QBID:25201038




Given below are two statements :
Statement I : Air Quality Index (AQI) is used to report to the public an overall assessment of a given day's air

quality.
Statement IT : Air Quality Index integrates air quality data for any two of the criteria pollutants into a single
number that represents the air quality of urban area.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct.

2. Both Statement I and Statement II are incorrect.

3. Statement I 1s correct but Statement I 1s incorrect.
. Statement I is incorrect but Statement IT is correct.

1) 1
(2) 2
(3) 3
(4) 4

3 G pyA R M E:

Y 1 : I1G VA FAPID DI TP 4T Y &7 D arg[uras] & 53 Jedidd & §R H Sdl P fdao
g & e e P ean g |

FYF 11 : I UG YD iP 3H U U G H Araus et il al Wl 1 arg ura<l & &<
(S21) DI FHIGIIA BT 5, ol TWRIG &F B arg UE &1 Jid-1ed Bl ¢ |

SR DY & 3fTeliep H, I fGU Y faepeul H Y8 Iugad Gk I 98- DI

P AR IS TR E |
PYF IR I SH A © |
HYF IR &, A PUH I TN § |
. PYTITTAd &, AT YT I TSI © |

1) 1
(2) 2
(3) 3
(4) 4

e

O

1[Option ID=30649] Question Description : general_paper_genarel paper_set 25_english_q38
2[Option ID=30650]
3[Option ID=30651]
4[Option ID=30652]

Sl. No.39
QBID:25201039

Which of the following are examples of solar cells?

. Organic solar cell

. Nanoparticle solar cell
. Elemental solar cell

. Plastic solar cell

. Molecular solar cell

mdo e

Choose the most appropriate answer from the options given below :

1. A, Band C Only
2. A, B and D Only
3.B.Cand D Only
4. C,D and E Only

1 1

(2) 2

3) 3

(4) 4




R el & Fameru FEfREd H AP e 2

Pla-S IR I

I IR I

dricde® ¥R 9

e 9R Ha

. ifig® IR I

i fu e faw el 5 9 999 Sugad SR &1 99 Hifeid :

1.Had A, B3R C
2. HAAA, B 3ARD
3. $adAB, C AR D
4.PTAC, D IARE

1

) 2

3) 3

) 4

mYow

1[Option ID=30653] Question Description : general_paper_genarel paper_set 25_english_q39
2[Option ID=30654]
3[Option ID=30655]
4[Option ID=30656]

Sl. No.40
QBID:25201040

When little rivulets of running water gather together and cut small channels in the soil, the process is called as
A

1. gully erosion
2. Sheet erosion
3. Channel erosion
4. Rill erosion
(1) 1
2) 2
(3) 3
(4) 4

76 HaTe! odt 1 Bl AGPTd U 1Y gl ol 9l © SR a1 § $erd I B Tomri a4nd! 6, 58 wiha
Pl T PGl I § 2

B GE N CAR RG]

. TRd 3U%ed

. YIS () SHU¥E
. &% IRl 3URe
(1) 1

(2) 2

3) 3

(4) 4

B O I

1[Option ID=30657] Question Description : general_paper_genarel paper_set 25_english_q40
2[Option ID=30658]
3[Option ID=30659]
4[Option ID=30660]

Sl. No.41
QBID:25201041

As per NEP 2020 Gross Enrolment Ratio (GER) is sought to be achieved to the extent of 50% by

R
2
=
e
]

11
(2) 2
(3) 3
(4) 4




IS 1R1& Aifd 2020 F STAR FAfARET # 2 4 9y do o AHiD UM (Sl 5 3R) Bl 50% B
1 d% W F- &1 ded ad forar g 2

2030
2035
2040
. 2047
1) 1
(2) 2
(3) 3
(4) 4

o

S S}

1[Option ID=30661] Question Description : general_paper_genarel paper_set 25_english_q41
2[Option ID=30662]
3[Option ID=30663]
4[Option ID=30664]

Sl. No.42
QBID:25201042

The Universities of Caleutta, Bombay and Madras were to be set up on the model of

1. Oxford University
2. Cambridge University
3. University of London
4. University of Edinburgh
1)1
(2) 2
(3) 3
(4) 4

fraifed fe disa (ufawm) R Haea aid iR 954 fayferea o wiftd fea s a2
1. HTeHIs fgyfaemey

2. i faufgemey
3

 Tie - [ayfase

1[Option ID=30665] Question Description : general_paper_genarel paper_set 25_english_q42
2[Option ID=30666]
3[Option ID=30667]
4[Option ID=30668]

Sl. No.43
QBID:25201043

Given below are two statements :
Statement I : NITI Aayog is neither a constitution body not a statutory body.
Statement IT : NITI Aayog iz a policy think-tank of Government of India.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are True.
2. Both Statement I and Statement II are False.
3. Statement I 1s true but Statement II 1s false.

4, Statement I is false but Statement II is true.

1) 1
) 2
(3) 3
(4) 4

BIEGERICACRI e

PYT: TF 315 1 312 TN A a1 GaenHa Fam ¢ 988 gifafls fFem g |
PYTIL : T HTS &1 TS HRA PR B TF Hifd foaRep-d=a g |

IRIF $YF o TP 5, Aid 20 U fded] T Tgl 3R &1 99 HIfug:

FYFIAR IS TIE |

HYA AR IS 3T |

FYT 1 I 8. AP HYT I 3T ¢ |
HYT1 AT 8, AT FUT I TG |

) 1

e




(2) 2

(3) 3

(4) 4

1[Option ID=30669] Question Description : general_paper_genarel paper_set 25_english_q43
2[Option ID=30670]

3[Option ID=30671]
4[Option ID=30672]

Sl. No.44
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Given below are two statements :
Statement I : UGC-CARE List I includes journals found qualified through CARE protocols.
Statement IT : UGC-CARE List II includes journals indexed in globally recognized data bases.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I 1s true but Statement II 1s false.
4, Statement I is false but Statement II is true.

11
(2) 2
(3) 3
4) 4

EIECIERIC GRS

FYTI : Goid - HUSRS F 1 1 3 S ST & fore HIUsiRs WicieT & Hreay § 3fed Ul 11 &
|

Y1 : Goildl- VISR G901 11 1 af¥e =0 3§ 71 21 o1 § Jeias oa Sfea 6 |

IRIF HYF o ATAH 1, AId AU T fa@ed] H Tel 3= &1 99 HIfig:

HYFTI AR NS A E |

CHUF IR I EH ST |

PYT 1T ¢, AP HYUT I AT |
YT TS, AT PUT I TS |
1) 1

(2) 2

3) 3

(4) 4

B O I

1[Option ID=30673] Question Description : general_paper_genarel paper_set 25_english_q44
2[Option ID=30674]
3[Option ID=30675]
4[Option ID=30676]

Sl. No.45
QBID:25201045

Which of the following are the logical steps for an instruction design system under MOOCs ?

. Policy analysis

. Need analysis

. Content analysis

. Learner analysis

. Assignment analysis

mdn e

Choose the correct answer from the options given below :

A.B, C Only

.B. C.D Only
3.C.D. E Only
4. A, D, E Only

(1) 1

(2) 2

3) 3

4) 4

| S




TR (MOOCs) & el SR A e YUITe! & qeeeiTd 9 FafiEa f S S

Hifa fowawor
SHggehdl [aLeiyur
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eIl faeere T
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2 fou e fewedl & 9 9t S @1 95 P :

1.$ad A, B.C
2.$ddB.C.D
3. %94 C,D,E
4. Pad A, D, E

1) 1

(2) 2

3) 3

(4) 4

mYow

1[Option ID=30677] Question Description : general_paper_genarel paper_set 25_english_q45
2[Option ID=30678]
3[Option ID=30679]
4[Option ID=30680]

Sl. No.46
QBID:25201046
Read the following passage and answer question :

The global financial erisis that began in 2008 hit Furope almost immediately with a major debt crisis.
Borrowers in a number of Eurozone countries had built up large debts and appeared to be unable to service
them.

The four principal Eurozone debtors were Greece, Ireland, Portugal, and Spain. In Spain and Ireland, house
holds had borrowed heavily to finance a major housing and construction boom. When housing prices
collapsed, the two national governments started borrowing heavily form abroad to finance national bank
bailouts and to stimulate their economies. Greece, however, had been running budget deficits ever since the
creation of the Eurozone, with the government relying heavily on foreign borrowing to cover the shortfalls.
Portugal was somewhere in between; both households and the government had been borrowing heavily.

The difficulties of the Eurozone debtors were not just a problem for them, since major northern European
financial institutions and investors were the one that had made most of these loans. If the debtors defaulted,
trillions of dollars in loans on the books of northern European banks, investors and pension funds would go
bad. The weight of so many bad loans and investments endangered the very integrity of the financial systems
of even the richest European countries, especially Germany and France. The sovereign debt crisis threatened
both the sovereign debtors and their creditors- and , in fact, the entire European economy.

frafafad meie @1 9d 3R Uy &1 IR I |

TN 2008 T TR §U %@ fowiTg Se = U WHE B0 YdHc I T Y 8 XY I ST TgaraT |
RIS & 3% 330 & PolaR] 4 g9 90 TR B0 0 & iR 32 g 3 smd wid gl e ¥ |

RIS & IR & HoiaR g (U), SERA s, God SR €1 4 | T 3R $Rds 8 @R URaRi 3
SATARg 3R AT 83 & aToR § 3115 doil () & [aauiyul & 1y YR 361 8 5601 Ui 56U | 5
STATE! B B B8 T8 dl 51 QI YT BT ARBRI A S0 AP bl 1 a1 g faquivo SR et
srferaRrsi H I & A faew 3 &9 UHH W B0 o1 TR 31| 3fdH, ReE & i & s 3
Bl A SWIc °1¢ BT HTHT B2 361 U1 AR FUD| WBR 58 I &1 Ud & [ [G4=h B0 R s@nite
T3 81 38 At | e S el ot 1 RUfT 7 ot | 11 R ORaR SfR TROR IR AT H B0 9 ¥
ol | TRIGH & DYIaRI B PSRl 4 bad 361 U Jrdl 2 iy Wi Skl gRIur fawiy Sersi
3R AT A SifrpTera: T 01 feu & | 3fE PoiaR o sreiai =Tl o urd ot 9 R §l,
Y] ERT Wa TRl SIeR & BN 3R YN S i g3 [RUld 81715 81! | 39 Sad Ul SR Fai
& 9 - Al =Ted g I, fARIvex SHAT 3R 6 @ &1 [dwiig saaeiTsfl &1 siefddl &1 1R
Waw H ST faar o | 59 94Uy BU Hhe d GUY BuigR| SR G BUGAIs] G iR, arad § gegul
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Which countries among the following had very high houschold borrowings ?

A. Portugal
B. Ireland

C. Greece
D. Spain

Choose the most appropriate answer from the options given below :

1. A, B and C Only
2.B. C and D Only
3. A.C and D Only
4. A, B and D Only

(1) 1

2) 2

3) 3

4) 4

FFrafaRad 7 9 fo5 <=1 § R 9RaR! W i€ 3= Iemiai of 2
3“”.?.

M (i)

o=

0wy

4 fau u fawedl § 9 9ad Sugad SR &1 997 S :

1. Had A, B3R C
2.$ad B, C 3R D
3. Pad A, C IRD
4. PadA, B3R D
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=30681] Question Description : general_paper_genarel paper_set 25_english_q46
2[Option ID=30682]

3[Option ID=30683]
4[Option ID=30684]

Sl. No.47
QBID:25201047




Read the following passage and answer question :

The global financial erisis that began in 2008 hit Furope almost immediately with a major debt crisis.
Borrowers in a number of Eurozone countries had built up large debts and appeared to be unable to service
them.

The four principal Eurozone debtors were Greece, Ireland, Portugal, and Spain. In Spain and Ireland, house
holds had borrowed heavily to finance a major housing and construction boom. When housing prices
collapsed, the two national governments started borrowing heavily form abroad to finance national bank
bailouts and to stimulate their economies. Greece, however, had been running budget deficits ever since the
creation of the Eurozone, with the government relying heavily on foreign borrowing to cover the shortfalls.
Portugal was somewhere in between; both households and the government had been borrowing heavily.

The difficulties of the Eurozone debtors were not just a problem for them, since major northern European
financial institutions and investors were the one that had made most of these loans. If the debtors defaulted,
trillions of dollars in loans on the books of northern European banks, investors and pension funds would go
bad. The weight of s0 many bad loans and investments endangered the very integrity of the financial systems
of even the richest European countries. especially Germany and France. The sovereign debt crisis threatened
both the sovereign debtors and their creditors- and , in fact, the entire European economy.

fgfafad Ty @ ue SR Uy 97 TR Sifer |

Ty 2008 B YR §U 31 [G<i Tebe = U U@ BUT Ydhe I T4 XS 61 4RI i SfTerd JgardT |
TRV & 3% SR & HulaR] A 95 JHH R BV [0 2 3R 3¢ 9oH 4 sl wdid sixs o |

RIS & IR &1 HoigR T (), SRS, Thme iR W9 & | WA SR 3mRds § TR uRari A
HTARIT SR 0 87 & a6k § 315 doll (§9) & [qauTsT & ferg YR 9rr & B0 i (6 | o
STaTHT P! BT T8 T8 dl o Al AP BT FBRI 1 37U AP §51 Bl F= v frquivn sk a1
srforaeist I Igue & fo fad®r 3 &9 9uH W H01 a1 R | dfdH, o= & Fafu s ag d
B1 JAH S@C U1¢ T HIHH1 B3 361 U1 3R 39| PR 58 I &1 Y[d & Y [a=i B0 W it
aﬂ@ﬁﬁ%ﬁaﬂrgﬁ?ﬂazﬂﬁﬁaﬁﬁaﬂ@ﬁﬁml?ﬂiﬁmw TR HR A H B d el
ot | TRIGI & BoiaR] B BISAIRY 4 Bad 361 U Jred o i g Iasl gRId iy swrsi
AR a2t 7 Sf®Td: O 501 AU ¥ | 913 FoiaR 3O+l &Il Tgi B2 uTd dl 3uel g i,
A gRT Ued @Ral SR & HUN 3R ULH Bs &I g R 81778 81l | 3Fd gad Hull Sk g
& dIg1 A Al e Ted TRV SR, [G2yes S SR Whid ae @1 fdwia craw1sf &1 Sfefadl ol Uk
TR T ST fan T | 55 99y B0 ST A Y BoiaR] SR ST BURIAIST G 3R, arkad o g
TRIGR srferaedT & o1y GoR1 S &l T o7 |

Given below are two statements :

Statement I : The debt crisis did not affect the richest European countries.
Statement IT : The debt crisis threatened only the debtors.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I 1s true but Statement II 1s false.
4, Statement I is false but Statement II is true.

(1) 1

(2) 2

3) 3

(4) 4

EIECIERICACRI S

FYT1 : B SPC - Falvd UATed GG =1 B FHIGd Te! b |
FYF 1 : U UHT A HAA HIGR] P (o7 FeRT I b |

IR DY o 3{Taied 4, =i (4T MU [depedl T Hel 3R BT 95 BIIU:

PYTI AR IS TIE |

PHYT 1 AR 1A 3T |

HUT 1 I 8. AP HUT I ST |
FUT I T C, AT FUT I T C |

B O I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30685] Question Description : general_paper_genarel paper_set 25_english_q47
2[Option ID=30686]

3[Option ID=30687]
4[Option ID=30688]
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Read the following passage and answer question :

The global financial erisis that began in 2008 hit Furope almost immediately with a major debt crisis.
Borrowers in a number of Eurozone countries had built up large debts and appeared to be unable to service
them.

The four principal Eurozone debtors were Greece, Ireland, Portugal, and Spain. In Spain and Ireland, house
holds had borrowed heavily to finance a major housing and construction boom. When housing prices
collapsed, the two national governments started borrowing heavily form abroad to finance national bank
bailouts and to stimulate their economies. Greece, however, had been running budget deficits ever since the
creation of the Eurozone, with the government relying heavily on foreign borrowing to cover the shortfalls.
Portugal was somewhere in between; both households and the government had been borrowing heavily.

The difficulties of the Eurozone debtors were not just a problem for them, since major northern European
financial institutions and investors were the one that had made most of these loans. If the debtors defaulted,
trillions of dollars in loans on the books of northern European banks, investors and pension funds would go
bad. The weight of s0 many bad loans and investments endangered the very integrity of the financial systems
of even the richest European countries. especially Germany and France. The sovereign debt crisis threatened
both the sovereign debtors and their creditors- and , in fact, the entire European economy.

fgfafad Ty @ ue SR Uy 97 TR Sifer |

Ty 2008 T YR §U 31%e (ARG Tebe - U W@ B YHE I TR RIS 61 gRY DI S{TaTd ugaraT |
TRV & 3% SR & HulaR] A 95 JHH R BV [0 2 3R 3¢ 9oH 4 sl wdid sixs o |

RIS & IR &1 HoigR T (), SRS, Thme iR W9 & | WA SR 3mRds § TR uRari A
HTARIT SR 0 87 & a6k § 315 doll (§9) & [qauTsT & ferg YR 9rr & B0 i (6 | o
STaTHT P! BT T8 T8 dl o Al AP BT FBRI 1 37U AP §51 Bl F= v frquivn sk a1
srforaeist I Igue & fo fad®r 3 &9 9uH W H01 a1 R | dfdH, o= & Fafu s ag d
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A gRT Ued @Ral SR & HUN 3R ULH Bs &I g R 81778 81l | 3Fd gad Hull Sk g
& dIg1 A Al e Ted TRV SR, [G2yes S SR Whid ae @1 fdwia craw1sf &1 Sfefadl ol Uk
TR T ST fan T | 55 99y B0 ST A Y BoiaR] SR ST BURIAIST G 3R, arkad o g
TRIGR srferaedT & o1y GoR1 S &l T o7 |

Which countries among the following were the main Eurozone debtors in 2008 ?

Germany
Spain
France
Greece
Portugal

MO0

Choose the most appropriate answer from the options given below :

A, B and C Only

B. C and D Only
3.B.D and E Only
4 A B.C.DandE

(1) 1

) 2

(3) 3

(4) 4

FafaRed o ¥ 9 4=12008 T 430 W Poigr 4 2

A T
B. WH
C. %

D. TAH
E.

i fu 7T fometl 5 9 998 Sugad SR &1 99 Pifid :

1.HaAA, B3R C
2. %adAB, C ARD
3.%dd B, D ARE
4.A,B.C,D3RE
1) 1
2 2

b e




3) 3
4) 4

1[Option ID=30689] Question Description : general_paper_genarel paper_set 25_english_q48
2[Option ID=30690]
3[Option ID=30691]
4[Option ID=30692]
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Read the following passage and answer question :

The global financial crisis that began in 2008 hit Europe almost immediately with a major debt crisis.
Borrowers in a number of Eurozone countries had built up large debts and appeared to be unable to service
them.

The four principal Eurozone debtors were Greece, Ireland, Portugal, and Spain. In Spain and Ireland, house
holds had borrowed heavily to finance a major housing and construction boom. When housing prices
collapsed, the two national governments started borrowing heavily form abroad to finance national bank
bailouts and to stimulate their economies. Greece, however, had been running budget deficits ever since the
creation of the Eurozone, with the government relying heavily on foreign borrowing to cover the shortfalls.
Portugal was somewhere in between; both households and the government had been borrowing heavily.

The difficulties of the Eurozone debtors were not just a problem for them, since major northern European
financial institutions and investors were the one that had made most of these loans. If the debtors defaulted,
trillions of dollars in loans on the books of nerthern European banks, investors and pension funds would go
bad. The weight of so many bad loans and investments endangered the very integrity of the financial systems
of even the richest European countries, especially Germany and France. The sovereign debt crisis threatened
both the sovereign debtors and their creditors- and , in fact, the entire European economy.

Fafefad Ty o 92 3R Uy o7 IR S |
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : In 2008 , Europe was quite susceptible to the global financial crisis,
Reason R : The global financial crisis immediately led to a major debt crisis in Europe.

In the light of the above statements, choose the most appropriate answer from the options given below :

Both A and R are correct and R is the correct explanation of A.

. Both A and R are correct but R iz NOT the correct explanation of A.
3. Ais correct but R is not correct.
4. A is not correct but R is correct.

1) 1

(2) 2

(3) 3

(4) 4

:ﬁﬁaﬁmﬁnw% U HUHYA (Assertion A) & =7 I 7RG 8 I TIRT 3TH BRUI (Reason R) &
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3) 3
(4) 4

1[Option ID=30693] Question Description : general_paper_genarel paper_set 25_english_q49
2[Option ID=30694]
3[Option ID=30695]
4[Option ID=30696]
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Read the following passage and answer question :

The global financial crisis that began in 2008 hit Europe almost immediately with a major debt crisis.
Borrowers in a number of Eurozone countries had built up large debts and appeared to be unable to service
them.

The four principal Eurozone debtors were Greece, Ireland, Portugal, and Spain. In Spain and Ireland, house
holds had borrowed heavily to finance a major housing and construction boom. When housing prices
collapsed, the two national governments started borrowing heavily form abroad to finance national bank
bailouts and to stimulate their economies. Greece, however, had been running budget deficits ever since the
creation of the Eurozone, with the government relying heavily on foreign borrowing to cover the shortfalls.
Portugal was somewhere in between; both households and the government had been borrowing heavily.

The difficulties of the Eurozone debtors were not just a problem for them, since major northern European
financial institutions and investors were the one that had made most of these loans. If the debtors defaulted,
trillions of dollars in loans on the books of nerthern European banks, investors and pension funds would go
bad. The weight of so many bad loans and investments endangered the very integrity of the financial systems
of even the richest European countries, especially Germany and France. The sovereign debt crisis threatened
both the sovereign debtors and their creditors- and , in fact, the entire European economy.

Fafefad Ty o 92 3R Uy o7 IR S |
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RIS & IR G HuiaR g (U), SR s, Gaid 3R O U | T 3R 3ERds 8 TR URari 3
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TR srforaeyT & o Wavl Sod & T o |

Failure on part of the debtors to pay loans would have risked

A. pension funds
B. investors
C. northern European banks

Choose the most appropriate answer from the options given below :

A and B Only
B and C Only
A and C Only
A BandC

N

(1) 1
() 2
(3) 3
(4) 4
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A U g & ferd
B. o & ferg
C. IO R 1 & g

i< fU U fdm et 5 9 96 Sugad SR &1 90 DI :

1. $ad A IRB
. FadB AR C
FAdAARC
4.A.B3RC

(1) 1
) 2
3) 3
(4) 4
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1[Option ID=30697] Question Description : general_paper_genarel paper_set 25_english_q50
2[Option ID=30698]
3[Option ID=30699]
4[Option ID=30700]

Paper II : 14-Public Administration

Sl. No.1
QBID:114001

Who among the following has viewed bureaucracy as no less than rule by officials which clashed with the principles of
representative government?

1. I.S. Mill

2. FHegel

3. Karl Marx

4. Gaestnao Mosco
(1) 1

(2) 2

3) 3

(4) 4

ﬁaﬁ@;ﬁﬁﬁ?ﬂwﬁaﬁw.ﬁﬁwﬁ. PRl & A Y HH b U H g1 g, ol UdH® WHR & iy
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1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=30101] Question Description : public_admi_public admin_set 1_english_q1
2[Option ID=30102]
3[Option ID=30103]
4[Option ID=30104]

Sl. No.2
QBID:114002

According to Warren Bennis collaboration between academicians and public managers lead to organizational

. Change

. Development
. Revitalization
. Integration
1) 1

(2) 2

3) 3

(4) 4
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IR &Y & YR BTG fdgHl 3R did Udtdhi & siid GganT Wiedd &1 A YRR HAT G |

1. gRadH

2. fa1g

3. st (Ragedsizm)
4. GHIBHTH

1) 1

(2) 2

3) 3

4) 4

1[Option ID=30105] Question Description : public_admi_public admin_set 1_english_q2
2[Option ID=30106]
3[Option ID=30107]
4[Option ID=30108]

Sl. No.3
QBID:114003

‘Who among the following coined the term 'techno structure' to refer to the power of knowledge in the hand of specialists?

. J.K. Galbraith
. Williamson

. A. Downs

. M.N. Zald

1) 1

(2) 2

(3) 3

(4) 4

frafeiad § 9 farg- fa2msil & grul § 3 &1 fdd & Yefdd R & i SRR Tee &I [ @1 4 |

B O R

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30109] Question Description : public_admi_public admin_set 1_english_q3
2[Option ID=30110]

3[Option ID=30111]
4[Option ID=30112]

Sl. No.4
QBID:114004

Who said "Integration requires high intelligence, keen perception, discrimination and inventiveness"?

. Rensis Likert

. Peter Drucker

. Elton Mayo

. Mary Parker Follet
1) 1

(2) 2

3) 3

(4) 4

fohT Pl UT - "HHTh e b (AU 3= GG AT, e+ U, [AUSIHR0T R IARSHYA a0 g 2"

1. 0 fadpd
2. fieR 3HR
3. Teed HUl
4. T U Wlde
(1) 1
(2) 2
3) 3
4) 4
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2[Option ID=30114]
3[Option ID=30115]
4[Option ID=30116]

Sl. No.5
QBID:114005

Which one of the following is not a feature of position classification?

. Duties

. Qualification

. Expertise

. Grouping of positions

B R

(1) 1
) 2
3) 3
(4) 4

fafeRad § ¥ S Ue-aTiih o &1 U fa2war I8 8 2

1. B

. gl
RENLER)
UGl &1 9g
1) 1

(2) 2

(3) 3

4) 4
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1[Option ID=30117] Question Description : public_admi_public admin_set 1_english_q5
2[Option ID=30118]
3[Option ID=30119]
4[Option ID=30120]

Sl. No.6
QBID:114006

Which committee recommended the three mid-career training in the 12th 2ot apd 2gth years of service for IAS officers?

. Yoginder K. Alagh Committee
. Satish Chandra Committee

. Surinder Nath Committee

. Yugandhar Committee

R

1) 1
) 2

3) 3

(4) 4

fb g Gffyfa 9 oS v.uy. fiw1Ral & fou §a1 @ 12d, 209 3fR 284 a¥ & g giceh (08 HRaR) UiRiem i srEn
AR

AN &, e g
i1 < Tinfd
.G 1y 9fAfd

. grTieR gt

1) 1

(2) 2

3) 3

(4) 4

B

1[Option ID=30121] Question Description : public_admi_public admin_set 1_english_q6
2[Option ID=30122]
3[Option ID=30123]
4[Option ID=30124]

Sl. No.7
QBID:114007

Which one of the following initiates the creation of New All India Services?

. Union Public Service Commission
. Prime Minister's Office

. Rajya Sabha

. Lok Sabha

B R R




1) 1
(2) 2
(3) 3
(4) 4

FfaRad # ¥ fead gR1 Ta-2Rad YR Yar3ii &1 -1 & Ugd $1 off ad! g 2

1. Y did TdT AN
2. YU Hl prafag
T T
AI® T

(1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=30125] Question Description : public_admi_public admin_set 1_english_q7
2[Option ID=30126]
3[Option ID=30127]
4[Option ID=30128]

Sl. No.8
QBID:114008

The quorum for conducting a session of Lok Sabha is :

1. 20 percent of strength
2. 15 percent of strength

3. 12% percent of strength

4. 10 percent of strength
1 1
(2) 2
3) 3
4) 4

AHUH & T & SIS & (01U [haH] el & HRE AaGP g 2

.S §d BT 20 UidLd
. G Sl Bl 15 UfdLId

3. GBI & P 12— U

[

%]

4. GT=AT 9d BT 10 U=
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=30129] Question Description : public_admi_public admin_set 1_english_q8
2[Option ID=30130]

3[Option ID=30131]
4[Option ID=30132]

Sl. No.9
QBID:114009

4279 Amendment Act, 1976 did not shift which one of the su bjects from state list to concurrent list?

. Education

. Forest

. Police

. Protection of wild life
(1) 1

(2) 2

(3) 3

(4) 4
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42d Y=Me U, 1976 A (HRARgd ® 9 9 fawa &1 I il © qoad! gt ° RiEiaRd g1 foarur o
1. fem

2.494

3. gfery

4. 9 S{iq TREJ0T

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=30133] Question Description : public_admi_public admin_set 1_english_q9
2[Option ID=30134]

3[Option ID=30135]
4[Option ID=30136]

Sl. No.10
QBID:114010

Which one of the following is not a "Writ' under the Constitution of India?

1. Quo-warranto
2. Certiorari

3. Prohibition

4. Injunction

1) 1

(2) 2

(3) 3

(4) 4

FrafiRad & € 19 4Rd & Ifdu & Sidifd e e @mew a8 2

1. 93l - aR=2
2. IYUT (TS 3R
3. Ofauy
4. G (SoIdEH)
1y 1
2) 2
(3) 3
(4) 4

1[Option ID=30137] Question Description : public_admi_public admin_set 1_english_q10
2[Option ID=30138]
3[Option ID=30139]
4[Option ID=30140]

Sl. No.11
QBID:114011

Which type of the following federalism is encouraged by NITI Aayog on the basis of ranking of states in various social
sectors based on quantitative objective criteria?

. Cooperative federalism
. Competitive federalism
. Quasi federalism

. Centralized federalism
1) 1

(2) 2

(3) 3

(4) 4

ifd TR ARG 3529 & AlUGs! R AR A IrErSid &3t # Isd] &f i & YR R Fgfad 3 9
Y PR & G9dIG &I Uidliod Sl g 2

N

1. GgaNd® HYdiq
2. yfaeeiers gudie
3. ¢ THarg
4. hgldhd Ygdle

1) 1

(2) 2




3) 3
4) 4

1[Option ID=30141] Question Description : public_admi_public admin_set 1_english_q11
2[Option ID=30142]
3[Option ID=30143]
4[Option ID=30144]

Sl. No.12
QBID:114012

Which one of the following is not a function of the District Collector?

. Returning officer for Elections to Parliament and State Assemblies
. District Census Officer

. Chief Protocol Officer

. Chairman of Zilla Parishad

(1) 1

(2) 2

(3) 3

(4) 4

foremsfiwr &1 Fafafaa @ feu sud e sl 7T & 2

1. §9e 3R Uy faer-rgyrefl 9414 & forg Hafad sfier
2. TS ST Siferd

g Uieidid DRI

fSrer uRwe o1 areme

1) 1

(2) 2

3) 3

4) 4

B O R

Ju b

1[Option ID=30145] Question Description : public_admi_public admin_set 1_english_q12
2[Option ID=30146]
3[Option ID=30147]
4[Option ID=30148]

Sl. No.13
QBID:114013

Which one of the Articles of Indian Constitution provides for "Metropolitian Planning Committee'?

. Article 243 ZA
CArticle 243 K

. Article 243 ZD
. Article 243 ZE
(1) 1

(2) 2

3) 3

4) a
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(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=30149] Question Description : public_admi_public admin_set 1_english_q13
2[Option ID=30150]

3[Option ID=30151]
4[Option ID=30152]

Sl. No.14
QBID:114014




In which one of the following States Panchayati Raj does not exist?

. Meghalaya
. Sikkim

. Tripura

. Assam

(1) 1

(2) 2

3) 3

(4) 4

fAgfciRad o U fdy Irsg | Y=l IS &1 31k el g 2
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(1) 1

(2) 2

3) 3

4) 4

1[Option ID=30153] Question Description : public_admi_public admin_set 1_english_q14
2[Option ID=30154]

3[Option ID=30155]
4[Option ID=30156]

Sl. No.15
QBID:114015

P.K.Thungan Committee was set up in 1989 to look into which of the following ?

. Panchayvati Raj System
. Electoral Reform

. Citizen Charter

. Police Administration
(1) 1

(2) 2

3) 3

) 4

Ty 1989 T . . Y7 G &1 716 FHafaRad o ¥ fdgd ferg fam mar 41 2

1. Gl IS a1
2. I GUR
ARG EIHR U=
e v

(1) 1

(2) 2

(3) 3

4) 4

B R B
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1[Option ID=30157] Question Description : public_admi_public admin_set 1_english_q15
2[Option ID=30158]
3[Option ID=30159]
4[Option ID=30160]

Sl. No.16
QBID:114016

The nearest analogue to the French Prefect in India is:

. District Development Officer

. District Collector

. DRDA

. District Superintendent of Police
1) 1

(2) 2

3) 3

(4) 4

B R B




URA ¥ iU fUthae & Fdedd spu e ME 9 s g 2

1. foret farg Sifger)
2. foral Folaex

3. SIeR3U
4. Torel gferg sqefierds

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30161] Question Description : public_admi_public admin_set 1_english_q16
2[Option ID=30162]

3[Option ID=30163]
4[Option ID=30164]

Sl. No.17
QBID:114017

According to Fred Riggs the administrative subsystem 'Chamber’ is found in societies.

1. Prismatic
2. Fused

3. Diffracted
4. Industrial
(1) 1

(2) 2

3) 3

(4) 4

s R & IR UGS SucgdRyl JrR Fafeiad o I fog gars & urd 9irdi g 2

2. GHfDd ()
3. faafdd
4. 3R
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=30165] Question Description : public_admi_public admin_set 1_english_q17
2[Option ID=30166]

3[Option ID=30167]
4[Option ID=30168]

Sl. No.18
QBID:114018

Which one of the following is not correct of a Government Company?

. It is established under the Companies Act

. Directors are appointed by the Government

. Government can hold a maximum of 51% of share capital

. Accounts are audited by the Comptroller and Auditor General under the provisions of the Companies act.

R B

(1) 1
) 2
(3) 3
(4) 4

WHRI Sl & e H Fafaad A9 s ggi 98l ¢ 2

1. g U SAATH o il =1MUd Bl §

2. Few®! &1 Fgfad WHR gRI &1 oI1dl §

3. WHR YDHTH 51% DI 32 Gofl 1R DR Fhell §

4, HUHI AAFTH & I & fcdiid FEEd Ud Helcal URIed gRI ol (Sfh13cd) B Yudien & Sirdi ¢ |

1) 1
(2) 2
(3) 3
4) 4




1[Option ID=30169]
2[Option ID=30170]
3[Option ID=30171]
4[Option ID=30172]

Question Description : public_admi_public admin_set 1_english_q18

Sl. No.19
QBID:114019

o

. Excess grant
11
(2) 2
(3) 3
(4) 4

SEEZSEE

Ycddald

B

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=30173]
2[Option ID=30174]

3[Option ID=30175]
4[Option ID=30176]

- 3ifie IEH

Financial grant given to the Executive to meet Urgent Financial requirement whose details are not to be disclosed is called:

. Vote on Account
. Demand for grants
. Vote of credit

fATaTd A axadmdrell @1 gfd gg SR & ued O sreH. e Ya-mt arde-d 981 &1 9l ¢,

' . .
- Il B HiT

Question Description : public_admi_public admin_set 1_english_q19

Sl. No.20
QBID:114020

[a—

-2

SN ]

11
(2) 2
(3) 3
(4) 4

.1 H1d 2020

13U 2020
. 1141:%?2021

. 1 3[UeT 2021
(1) 1

@) 2

(3) 3

4) 4

a2 W BN =

1[Option ID=30177]
2[Option ID=30178]
3[Option ID=30179]
4[Option ID=30180]

The recommendations of 15% Finance Commission is in operation from which date?

. 15t March of 2020
. 150 April 2020

. 15" March of 2021
. 15t April of 2021

159 fad SramT & SR oy fafy 9 uyrdi € 2

Question Description : public_admi_public admin_set 1_english_q20

Sl. No.21
QBID:114021




Which one of the following is not a feature of Performance Budgeting?

. Activities divided into functions, programmes and cost elements
. Linking of outcome to the funding allocated

. It is suited to discretionary costs

. Outcome/quality-based Performance Bonus funding

T O B

1) 1
(2) 2
3) 3
(4) 4

feaTe Sofe &t faRydr FafaRad A 9 S di 381 ¢ 2
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11
(2) 2
(3) 3
(4) 4
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1[Option ID=30181] Question Description : public_admi_public admin_set 1_english_q21
2[Option ID=30182]
3[Option ID=30183]
4[Option ID=30184]

Sl. No.22
QBID:114022

'Financial Inclusion' is the mission of which one of the following Schemes of Government of India?

. Pradhan Mantri Adarsh Gram Yojana
. Atal Pension Yojana

. Pradhan Mantri Vaya Vandana Yojana
. Pradhan Mantri Jan Dhan Yojana

(1) 1

(2) 2

3) 3

4) 4

T TATERT, HRA ISR D1 HEIRad § I 9 i1 &1 49 ([0=E) § 2

QYA 2TER] UH gieET
. UYFEET 99 deq gieEr
RriEnpicERIERIICE |
(1) 1

(2) 2

(3) 3

4) 4

B B

B

1[Option ID=30185] Question Description : public_admi_public admin_set 1_english_q22
2[Option ID=30186]
3[Option ID=30187]
4[Option ID=30188]

Sl. No.23
QBID:114023

Which among the following conducted social audit first time in India?

. Implementation of 738 CcAA

. VII Finance Commission

. Tata Iron and Steel Company (TISCO)
. MKSS, Rajasthan

(1) 1

(2) 2

(3) 3

(4) 4

R




YRd H gduyH grifois 2fdem Fafafad § 9 foa- sxamr ot 2

1. 739 Giq S=heE ifufgE & fharag-
2. VII [dd S1anT
3. TTCT TR U8 EId U (o))
4. TH & TY T, AT RIM
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=30189] Question Description : public_admi_public admin_set 1_english_q23
2[Option ID=30190]

3[Option ID=30191]
4[Option ID=30192]

Sl. No.24
QBID:114024

Ambedkar Social Innovation Incubation Mission (ASIIM) is promoted under the Ministry of:

. Rural Development

. Social Justice and Empowerment
. Commerce

. Health and Family Welfare

(1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=30193] Question Description : public_admi_public admin_set 1_english_q24
2[Option ID=30194]
3[Option ID=30195]
4[Option ID=30196]

Sl. No.25
QBID:114025

Women Entrepreneurship Platform (WEP) was launched by which one of the following ?

1. Ministry of Women and Child Development
2. NITT Aayog
3. National Women Commission
4. Ministry of Rural Development
1) 1
(2) 2
3) 3
4) 4

Afedl Il WewH (WEP) & FHfeiRad H 1 fdad gRT SR fooam T/ o1 2

1. Afge Ud o1 f[ddhrg Hareg
2. Fifd MRt
3. BT Afgar S
4. YHHIVT [9H I TR
(1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=30197] Question Description : public_admi_public admin_set 1_english_q25
2[Option ID=30198]
3[Option ID=30199]
4[Option ID=30200]

Sl. No.26
QBID:114026

Which policy making model deals with two alternatives till one proves obviously better than the other?

. Pure Rationality Model

. Economically Rational Model
. Sequential Decision Model

. Extra Rational Process

(1) 1

(2) 2

(3) 3

(4) 4

S H-91 Hifd Faio s iR y) [SHT U [dded, IR B U ¥ 0 Y dgar did &l f[ddhel 3 Hdfid g 2

1. g diichebar AlSd
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. IS fafigg arsd
2ffdRad IH MRS Al

(1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=30201] Question Description : public_admi_public admin_set 1_english_q26
2[Option ID=30202]
3[Option ID=30203]
4[Option ID=30204]

Sl. No.27
QBID:114027

The coneept of 'Good Governance' was first coined by :

1. United Nations
2. UNESCO
3. World Bank
4. International Monetary Fund
(1) 1
(2) 2
3) 3
(4) 4

YA Bl Yeb o (Haifhd fhdd gr1 MId (1 i) ot 2
1. Y& Y
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1)1
(2) 2
(3) 3
(4) 4
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A

1[Option ID=30205] Question Description : public_admi_public admin_set 1_english_q27
2[Option ID=30206]
3[Option ID=30207]
4[Option ID=30208]

Sl. No.28
QBID:114028

'Government as a problem, not a solution' : This statement is attributed to:

. Ronald Regan and Algore

. Margaret Thatcher and Ronald Regan
. Margaret Thatcher and Jhon Major

. Elenor Ostrom and Welliamson

1) 1

B R R




) 2
3) 3
(4) 4

IRGR U YA & ¥0 1, 7 [ Uh U I8 Y [Hgifhd (GOt 3fad g »

1. JFIE IH 3R @R
2. AR TR AR A H
3. ARYT Yo 3R i Ao
4. UeHR {1 R fafergm
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=30209] Question Description : public_admi_public admin_set 1_english_q28
2[Option ID=30210]
3[Option ID=30211]
4[Option ID=30212]

Sl. No.29
QBID:114029

"Globalization means different things to different people with different interests". This quotation is attributed to :

. Fukuyama

. Friedman

. Thompson

. Ali Farazmad
(1) 1

(2) 2

3) 3

(4) 4

a1 § 37y fiyd fgdl (S ard o= i gq fid a%du g+ ug 3 Fafafad 4 O feaai g 2

PaH
e

YA
4. 3c BISHS
1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=30213] Question Description : public_admi_public admin_set 1_english_q29
2[Option ID=30214]
3[Option ID=30215]
4[Option ID=30216]

Sl. No.30
QBID:114030

In the debates of Governance; Devolution means:

. Government work carried by local bodies

. Strengthening the powers of local bodies

. Improving welfare measures by governments

. Government work through elaborate networks

B R

1) 1
(2) 2
(3) 3
(4) 4

I et arefaare ©, A 9 1 6
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3) 3
(4) 4

1[Option ID=30217] Question Description : public_admi_public admin_set 1_english_q30
2[Option ID=30218]
3[Option ID=30219]
4[Option ID=30220]

Sl. No.31
QBID:114031

Which one of the following is not included in the four pillars of Good Governance?

. Ethics

. Equity

. Efficiency

. Effectiveness
(1) 1

(2) 2

(3) 3

(4) 4
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(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=30221] Question Description : public_admi_public admin_set 1_english_q31
2[Option ID=30222]

3[Option ID=30223]
4[Option ID=30224]

Sl. No.32
QBID:114032

Which one of the following research techniques cannot be applied in a descriptive research?

. Observation

. Questionnaire
. Exploration

. Sampling

1) 1

(2) 2

3) 3

(4) 4

frafofad ® 9 o4 2y ufaf fEe aufras iy o oruged 7e) 81 9ddl § 2
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(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=30225] Question Description : public_admi_public admin_set 1_english_q32
2[Option ID=30226]

3[Option ID=30227]
4[Option ID=30228]

Sl. No.33
QBID:114033




In sampling, division of population into smaller sub-groups is called:

. Classification
. Categories

. Stratification

. Differentiation
1) 1

(2) 2

(3) 3

(4) 4
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1) 1

(2) 2

3) 3

(4) 4

1[Option ID=30229] Question Description : public_admi_public admin_set 1_english_q33
2[Option ID=30230]

3[Option ID=30231]
4[Option ID=30232]

Sl. No.34
QBID:114034

In Social Research relationship between two variables is called:

Casuality

. Casual

. Independent relation
. Correlation

(1) 1

(2) 2

3) 3

4) 4

qMHIST-RIY H &l @R & 02 &1 YaY Hgdldl g

1. HROAT
. PRUTHS
oA Ody
. Ug-ddy
(1) 1

(2) 2

(3) 3

4) 4
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1[Option ID=30233] Question Description : public_admi_public admin_set 1_english_q34
2[Option ID=30234]
3[Option ID=30235]
4[Option ID=30236]

Sl. No.35
QBID:114035

The goodness of hypothesis is tested by which one of the following ?

1. ANOVA

2. T-test

3. Z-test

4. Chi-square Test
1) 1

(2) 2

3) 3

(4) 4
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AL |
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(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=30237] Question Description : public_admi_public admin_set 1_english_q35
2[Option ID=30238]

3[Option ID=30239]
4[Option ID=30240]

Sl. No.36
QBID:114036

A small group, where the researcher try to interview everyone is called as type of sampling.

L. Cluster Sampling
2. Area Sampling
3. List Sampling
4. Stratified Sampling
(1) 1
(2 2
3) 3
4) 4

U Y T, FSrH P Meichdl TP dd & I&TPR T 90 I ¢ SR UdaaT® _ UdR & 30 H &M
g |

1. T8 (FeTeR) Ufc=ge
2. &F Ufa=aa
3. gl ufaaa
4, T d UidaaH

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30241] Question Description : public_admi_public admin_set 1_english_q36
2[Option ID=30242]
3[Option ID=30243]
4[Option ID=30244]

Sl. No.37
QBID:114037

When the researcher is using Networks for collection of sample, that method is called as

. Accidental Sampling
. Quota Sampling

. Snowball Sampling

. Social sampling

1) 1

(2) 2

3) 3

(4) 4

old B3 AYddl UidGR & TUGU g Hedd bl SUIN] &Rl g dd dg [d1e FUH A SN g :

1. Ui ufd<g—
2. FIaig (@ien ufd=aq
3. Qidid Hic=ad
4. GrHINIS UidgaH
(1) 1
(2) 2
3) 3

B O




(4) 4

1[Option ID=30245] Question Description : public_admi_public admin_set 1_english_q37
2[Option ID=30246]
3[Option ID=30247]
4[Option ID=30248]

Sl. No.38
QBID:114038

Which one of the following is not a merit of centralism ?

. Better coordination

. Duplication in organization can be avoided
. Add to prestige and influence of the top

. Improve motivation of subordinates.

B B

(1) 1
) 2
3
4

)
)
f

giafad 1 U $H-Ud hxdle I UD U g1 g 2
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1) 1
) 2
(3) 3
(4) 4

[N I ]

A

1[Option ID=30249] Question Description : public_admi_public admin_set 1_english_q38
2[Option ID=30250]
3[Option ID=30251]
4[Option ID=30252]

Sl. No.39
QBID:114039

The need for 'Level Jumping' in a hierarchical organization is termed as:

. Peter Principle
. Gangplank

. Rule of Thumb
. Power-Over
(1) 1

() 2

3) 3

4) 4

fo il Ue- T+ W H cidd ST gq Saddhdl &l A g :

1. Jex e (Rrsr)
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(1) 1

(2) 2

(3) 3

(4) 4
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A

1[Option ID=30253] Question Description : public_admi_public admin_set 1_english_q39
2[Option ID=30254]
3[Option ID=30255]
4[Option ID=30256]

Sl. No.40
QBID:114040

"Preface to Public Administration : A search for Themes and Direction" is written by

. Ali Farazmand

. Richard J Stillman II

. Nicholas Henry

. Robert T Golembiewski

B




1) 1
(2) 2
(3) 3
(4) 4
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1) 1

) 2

3) 3

(4) 4
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1[Option ID=30257] Question Description : public_admi_public admin_set 1_english_q40
2[Option ID=30258]
3[Option ID=30259]
4[Option ID=30260]

Sl. No.41
QBID:114041

Consider the following criticisms of Taylorism by Antonio Gramsci and select the correct answer:

A. Tt subordinates the workers to management

B. Repetitive work gives rise to revolutionary thoughts in worker's minds
C. It concerns only with mechanical aspects

D. It sacrifices the initiative of workers

Choose the correct answer from the options given below:

. A and B only

. A, Band C only
.B. C and D only

. A, B, CandD only
(1) 1

(2) 2

3) 3

4) 4

T Ui gR1 Ued CaRed &1 3fTa- R [daR SIfT 3R Tl 3R &1 904 SifT |
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D. T8 $Ii®! &l Uga Bl s cdi g |
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1[Option ID=30261] Question Description : public_admi_public admin_set 1_english_q41
2[Option ID=30262]
3[Option ID=30263]
4[Option ID=30264]

Sl. No.42
QBID:114042




Which of the following are the ideas of Chris Argyris ?

A. Zone of indifference
B. Maturity Immaturity
C. T-group Techniques

D. Constructive conflict

Choose the correct answer from the options given below:

. A and B only
.Band C only
. C and D only
. Aand D only
(1) 1
(2) 2
3) 3
4) 4

g e & FefRed 9 eAa faarR € 2
A. JeriHar &

B. URU&I - 3URTSHdl
C. - 9g db-ld
D. IITHS 9y
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1[Option ID=30265] Question Description : public_admi_public admin_set 1_english_q42
2[Option ID=30266]
3[Option ID=30267]
4[Option ID=30268]

Sl. No.43
QBID:114043

Which of the following concepts are explained by Douglas McGregor?

A. Theory 'X'
B. ERG Theory
C. Theory 'Z
D. Theory 'Y".

Choose the correct answer from the options given below:

. Aand C only

. Aand B only

. Aand D only
.A,B,C,Donly
1) 1

(2) 2

3) 3

(4) 4

B R




S Hd PR gRI (AgieRad H U fbd Y ed-rell & aRAT H1 718 © 2

A Reidx
B. 3.3R.Sil. Rygia
c. fgidz
D. fsidy.

d feu 7 faded! d 9 Il IR &1 99 HIfT:

1[Option ID=30269] Question Description : public_admi_public admin_set 1_english_q43
2[Option ID=30270]
3[Option ID=30271]
4[Option ID=30272]

Sl. No.44
QBID:114044

Which of the following functions recommended by 274 Administration Reforms Commission to be developed to Urban
Local Bodies in addition to the functions listed in the twelfth schedule ?

A. School Education

B. Public Health (including community health centre/area hospitals)
C. Traffic Management and Heritage

D. Land Management including Registration

Choose the correct answer from the options given below:

. Aand B only

. A, B and C only
.B. C and D only

. A, B, Cand D only
1) 1

(2) 2

(3) 3

(4) 4

R Aol & fahr™ & fou IRed! 3 # Yllds Sl & sifaRed fadia wmafie gur s Fafiad 3 9
b Bl B = &1 Al 2

A. faerea fRien

B. - (TGS WA &5 /& 3RgdId digd)
C. AT et 3R eRIgR

D. TSl 01 igd YiH ey

I feu e fdded! o 9 Ugl 3R &1 994 dlfor:

1. $ad A 3RB
2. HIAd A, B3R C
3. $hdd B, C 3R D
4. $Hdd A, B, C 3R D
(1) 1
(2) 2
(3) 3
4) 4

B R R

1[Option ID=30273] Question Description : public_admi_public admin_set 1_english_q44
2[Option ID=30274]




3[Option ID=30275]
4[Option ID=30276]

Sl. No.45
QBID:114045

Which of the following are pot the functions of State Secretariat?

A. Framing of Draft Legislation

B. Implementation of Programmes

C. Coordinating with the Union Government
D. Final approval of Legislation

Choose the correct answer from the options given below:

1. A, B, C,D only
2.B,C,D only
3.B and D only
4. Aand C only

1 1

(2) 2

3) 3

4) 4

fFgfeRad H ¥ @MY o9 GHaread & &1 ol g 2

A TauT— Gl 9YIeT dOR Sl
B. BRIGH! &l gy

C. U9 WRBR & Iy TH-a94

D. fasmad &1 3ifqw Wigpid

I 16U U fd@edl | U Y51 3R &1 99 DIfIe:

1. $ad A, B, C, D
. $ddB.C,D

. $ad B 3R D
. Had A 3R C

1) 1
(2) 2
3) 3
(4) 4

LS T o]

=

1[Option ID=30277] Question Description : public_admi_public admin_set 1_english_q45
2[Option ID=30278]
3[Option ID=30279]
4[Option ID=30280]

Sl. No.46
QBID:114046

According to Talcot Parsons, the concept of 'System' includes:

A. The parts of system

B. Interactions among parts

C. Interactions between the sub systems

D. Interactions between the system and environment.

Choose the correct answer from the options given below:

.A. B, Conly
.A.B.Donly
.A. C,Donly
.A.B,C,Donly
1) 1

(2) 2

(3) 3

(4) 4

B R B




cTddhe URIY & YR yunelt (e # fafafad d & afdfed ¢

A. UUTGH & 3117

B. 3i20 & & RER-fdan

. Iu-yunferdl & e URER-fohar

D. UUTTE! 3R YUiaRYl & s RER-fohAT

i feu e fasmedl § 9 Ul 3R &1 994 Difole:

. $Id A, B, C
2. HAA A, B, D
3. HAAA,C.D
4. $Ad A, B,C.D

(1) 1

() 2

(3) 3

(4) 4

1[Option ID=30281] Question Description : public_admi_public admin_set 1_english_q46
2[Option ID=30282]
3[Option ID=30283]
4[Option ID=30284]

Sl. No.47
QBID:114047

Wheo among the following thinkers initiated the study of Ecological Approach before Riggs?

A. John Gaus

B. Robert A Dahl

C. Roscoe Martin

D. George Frederickson

Choose the most appropriate answer from the options given below:

.A.B,Conly
.B,C.,Donly
.A.C,Donly
.A.B.Donly
1) 1
(2) 2
(3) 3
(4) 4

fFrafaRad o 9 fo faare 4 g 9 gd uIiRfRfAS T SURTE &1 S1ea 3R® fdba o1 2

A. ST
B.3I&¢ U 3

C. IPIS AfeA
D. Sl hoR&UH

=T fau 70 faeedl H O Y94 SUdad 3T &1 99 Difoig:
1. HddA.B.C

B R

1[Option ID=30285] Question Description : public_admi_public admin_set 1_english_q47
2[Option ID=30286]
3[Option ID=30287]
4[Option ID=30288]

Sl. No.48
QBID:114048




Which of the following statements are true about Public Finance?

A. The government agency does not save any funds and has to spend whatever revenue and money has been accrued
B. The government can take a recourse of forcible measures

C. The government agencies balance their income and expenditure

D. It has a limited scope.

Choose the correct answer from the options given below:

. A B, Conly
.B. C, D only
. A B, D only
.A. C.D only
1) 1
(2) 2
3) 3
(4) 4

HAdS-d fad & aR § (FYieiRad -9 $y 9l g 2

A. gﬁiﬂ@%ﬁ%ﬂﬁﬂ%m(%)aﬁﬁm%ﬁ?sﬁﬁlﬁwaﬂ?w ST 311 g 3 Td BT giell
|

B. DR YHIH! IUTgl &b feTT Tld! I o Tbell B |

C. DRI THRAT 30 37 Ud 4 HI Hdferd Hal g |

D. 3HG] HiHd fawa-&7 g |

1 feu 7 faded! © I Wl SR 61 994 HIfIE:

1. $ITA.B.C
2. $4d B, C, D
3. Hadd A, B, D
4. HAA A, C. D

(1) 1

(2) 2

(3) 3

4) 4

B O R

1[Option ID=30289] Question Description : public_admi_public admin_set 1_english_q48
2[Option ID=30290]
3[Option ID=30291]
4[Option ID=30292]

Sl. No.49
QBID:114049

Transformation of the public sector around the world due to:

A. Corporatization

B. Commercialization
C. Marketization

D. Privatization

Choose the correct answer from the options given below:

. A, B, Conly
.A,C,D only

. A, B,D only
.A,B,C,Donly
1 1

(2) 2

3) 3

(4) 4

B R




L o O o, Y i

FafaRad & 9 fdbd HRUI Y faywR o Fidoii-a &3 &1 $UiaRu g3 g :

A, FTEisR
B. A0 HIOT
C. ARIDHR0]
REEICTL|

i feu e fasmedl § 9 Ul 3R &1 994 Difole:

. $Id A, B, C
2. HAAA.C,D
3. HAdA.B.D
4. $ad A, B,C.D

(1) 1

() 2

(3) 3

(4) 4

1[Option ID=30293] Question Description : public_admi_public admin_set 1_english_q49
2[Option ID=30294]
3[Option ID=30295]
4[Option ID=30296]

Sl. No.50
QBID:114050

Which one of the following documents related to Budget must be presented to the Parliament including the Budget Speech ?

A. Annual Financial Statement

B. Demand for Grants

C. Revised Estimates (current year)
D. Appropriation Bill

E. Finance Bill.

Choose the correct answer from the options given below:

.A, B, C,Donly
.A,B,C,Eonly
.A,C,D,E only
.A,B.D,E only
1) 1
(2) 2
3) 3
(4) 4

Joic YTV Higd Joi I Tdfed (Hafefad 4 9 &1 9 aXids 998 & GH 3{d3g Ukdd gi- 91U :

O B

I 16U U fdeedl | U gl 3R &1 994 HIfoIe:

1. $dd A, B,C.D
2. HAd A, B, C.E
3. Hdd A, C, D, E
4. A A.B,D.E

) 1

() 2

(3) 3

4) 4

1[Option ID=30297] Question Description : public_admi_public admin_set 1_english_q50
2[Option ID=30298]




3[Option ID=30299]
4[Option ID=30300]

Sl. No.51
QBID:114051

Which of the following are the objectives of Social Welfare?

A. Safeguard people from poverty

B. Promote greater Equality through redistribution of resources
C. Promote Democracy through Participation

D. Help those who cannot help themselves.

Choose the most appropriate answer from the options given below:

. A, B, Conly

. A, B, D only
.A.C,D only
.A,B,C,Donly
1 1

(2) 2

3) 3

4) 4

A S0 & 33 HEaRgd g eH U € 2

A AT o ferg fRefaar § dReium

B. Y14l & ARl & H1EH Y gk YHMH DI IR ol
C. UgHIRTAI RT dldhdd &l UicTg ol

D. 3! Ygdl BT Sl W4 S gl Tol = Jdd

il feu 7 faded! o 9 9aiide 3ugdd IR &I 98- Sl :

1.Hadd A, B, C
2. HAdA.B.D
3. HAd A, C.D
4. ®HAA A, B,C. D

) 1

() 2

3) 3

4) 4

B R

1[Option ID=30301] Question Description : public_admi_public admin_set 1_english_q51
2[Option ID=30302]
3[Option ID=30303]
4[Option ID=30304]

Sl. No.52
QBID:114052

Which of the following are considered as a disabilities under Persons with Disability (Equal Opportunity, Protection of
Rights and Full Participation) Act, 1995 ?

A, Autism

B. Leprosy Cured
C. Mental Illness
D. Low Vision

Choose the most appropriate answer from the options given below:

. Aand B only
.Band C only

. Aand D only
.A B, C,D only
1) 1

(2) 2

3) 3

4) 4

B O R




9219 SAfad (THT TR, UBR W& 3R gui HiiiqR) sifefad, 1995 & sidiid Frafafad & d fod F:rdddr
S IUHAAIGMIE 2

A. TURTYUIET (3MTfesH)
B. DERIT HfHHIET
C. AT B07T

D. 3 =P (@l faoH)

=T U 770 [ el § O Ya SUdad 3wk &1 99 Difoie:

1. $ad A 3R B
2. HAAB AR C
3. Had A3RD
4. HAA A, B,C.D

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=30305] Question Description : public_admi_public admin_set 1_english_q52
2[Option ID=30306]
3[Option ID=30307]
4[Option ID=30308]

Sl. No.53
QBID:114053

Which of the following are the characteristics of Social Justice?

A. Social equality

B. Freedom and Liberty with Economic equality
C. Human Brotherhood

D. Self-respect and Dignity.

Choose the correct answer from the options given below:

. Aand B only

. A, Band C only
.B. C and D only

. A, B, CandD only
1) 1

(2) 2

3) 3

(4) 4

TS U & & Fafafad A g 9 E 2

A. GTHITSTS JHE

B. 3T T & 1Y SToIal Ud WAl
C. 74 HIdd

D. ATH-THME 2R TTRAT

I TGU U f9eedl | U gl 3R &1 99 HIfIE:

1. $ac A 3R B
2. HAT A, B3R C
3. $dd B, C 3R D
4. $dd A, B, C 3R D
11
@) 2
3) 3
4) 4

e e R

1[Option ID=30309] Question Description : public_admi_public admin_set 1_english_q53
2[Option ID=30310]
3[Option ID=30311]
4[Option ID=30312]




Sl. No.54
QBID:114054

Which of the following pairs are correctly matched regarding policy types and stability of relationship?

A. Distributive Policies - Stable

B. Protective Regulatory Policies - Unstable
C. Competitive Regulatory Policies - Stable
D. Redistributive Policies - Unstable

Choose the correct answer from the options given below.

. A, B, CandD only
. A, Band C only
.B. C and D only

. Aand D only

1 1

(2) 2

3) 3

4) 4

HI-GHRI Td Teief B 2Rl & Yoo o Ugl gHferd gm FafaRgd T4 U g 2

A faR® {Fifg - @R
B. WR&THSD [HaHs Hifd - @R
c. Ufeaslf fFame Fifd - RR

D. TGRS Hifd - SRR
I 16U U fd@edl | U Y51 3R &1 99 DIfIe:

1. $ad A, B, C 3R D
2. Pad A, BHR C
3. $dd B, C 3R D
4. %Had A 3R D

11

) 2

(3) 3

(4) 4

B R

1[Option ID=30313] Question Description : public_admi_public admin_set 1_english_q54
2[Option ID=30314]
3[Option ID=30315]
4[Option ID=30316]

Sl. No.55
QBID:114055

Which of the following are the features of Policy Sciences ?

A. Acceptance of 'Tacit Knowledge'
B. Achieving "Value Free Sciences'

C. Not adopting 'Historic Approach'
D. Accepting Extra-rational Process.

Choose the correct answer from the options given below:

. Aand C only

. B and C only

. Aand D only
.B. C and D only
1) 1

(2) 2

(3) 3

(4) 4

B R




ifaTTd fa3= &1 f[a=uand FafRag § S A i g 2

A. 3 IH B Wibrdl

B. {4 gd fagm of uif

. Ui U SR 7 Bl
D. dRad-dllhd Uil WIHR Bl

d feu 7 faded! d 9 Il IR &1 99 HIfT:

1[Option ID=30317] Question Description : public_admi_public admin_set 1_english_q55
2[Option ID=30318]
3[Option ID=30319]
4[Option ID=30320]

Sl. No.56
QBID:114056

Which of the following statements are correct regarding agenda in policy process?

A. The largest level of the agenda is the Agenda Universe
B. The smallest level of the agenda is the Decision Agenda
C. The systematic Agenda consists of all issues that are commonly perceived by Members of the Political Community.

Choose the correct answer from the options given below:

. Aand B only
.Band C only

. Aand C only

. A, Band C only
1) 1

(2) 2

3) 3

(4) 4

FrafaRad SH-8 Hy= ifd-ufear & veisT (GrRYH) & TR § 951 g 2

A. TSIS1 &1 Gaifid 9971 W, Uolal 9afy (%) g |
B. U531 &I dYdH-&R, [dF4g TeisT g |
C. YD FH&H & Ya&i gR1IMF $0 ¥ 34 [HT T 9 I YHaied Usisl § Gfca g © |

I 16U U f@edl H U Yol 3R &1 99 BIoIe:

e

1[Option ID=30321] Question Description : public_admi_public admin_set 1_english_q56
2[Option ID=30322]
3[Option ID=30323]
4[Option ID=30324]

Sl. No.57
QBID:114057




Which of the following are pot a part of the 7 pillars of effective governance as enunciated by NITT Aayog ?

A, Participation

B. Accountable

C. Transparency
D. Responsive

Choose the correct answer from the options given below:

1. A, B only
2.B, D only
3. A Donly
4. B, C only

(1) 1

) 2

(3) 3

(4) 4

FrafeRad # 9 &1 -Hifd SmarT gRT URdd fohT 7T WHIET JE & 9Id &#Hi & HIT R 2

A. gYET

B. 3Gl

C. YRRl
D. Siharid

i 16U U fdeedl | U Ug] 3R &1 99 HIfoIe:

1[Option ID=30325] Question Description : public_admi_public admin_set 1_english_q57
2[Option ID=30326]
3[Option ID=30327]
4[Option ID=30328]

Sl. No.58
QBID:114058

Identify the indicators of 'Good Governance' as envisaged by World Bank

A. Rule of law and Independent Judiciary

B. Freedom of associations and Public Participation

C. Control mechanisms on Civil Seciety Organizations
D. Transparency and Openness in administration

Choose the correct answer from the options given below:

A, B, Conly

. A, B, D only

. A, C,D only

. A, B, C,D only
(1) 1

(2) 2

(3) 3

(4) 4

B O A




{qydd gRI Bictd YA & Yddd! &l Ugdi-u :

A. Taf¥ &1 A 3R WdF A

B. U" 1M &I WdAdl 3R SH-HFGRT
c. Tafad Jrradt sl iR fFgaurdE
D. U= H URERIAT iR G-

i feu e fasmedl § 9 Ul 3R &1 994 Difole:

1. $ad A, B, C
2. HAd A, B, D
3. BAAA.C,D
4. Hdd A, B,C.D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30329] Question Description : public_admi_public admin_set 1_english_q58
2[Option ID=30330]

3[Option ID=30331]
4[Option ID=30332]

Sl. No.59
QBID:114059

Improving the Capacity in administration includes:

A. Ability to Govern and manage

B. Training the employees to cope upto new environment
C. Market mechanisms to be expanded

D. Direct service delivery to citizens.

Choose the correct answer from the options given below :

.A.B,Conly
.A, B, D only
.B. C,D only
.A. C.Donly
1) 1
(2) 2
(3) 3
(4) 4

T & & YR b3 H AT :

A. A 3R Ueled B DI AL |
B. HHANG! B AU aId1ax vl (A=) T dIare 941 &l UiR1&01 &7 |
C. IeR-d faEdTid fhar S 91fgu |
D. ARG &I Uie IR TR a1 U |

i feu U faded! ¥ 9§ Yl 3R &1 994 DifolE:
1. $9d A, B, C

B R

1[Option ID=30333] Question Description : public_admi_public admin_set 1_english_q59
2[Option ID=30334]
3[Option ID=30335]
4[Option ID=30336]

Sl. No.60
QBID:114060




Content analysis as a research tool refers to

A. Study of Documents

B. Use of patterns and symbols

C. Analysis of words and concepts

D. Study of Latent and Manifest content

Choose the most appropriate answer from the options given below:

.A B, C,D only
.A.C.D only
.B. C,D only
.A.B.D only
(1) 1

(2) 2

3) 3

4) 4

U 1Y IUHRY & T H [qvg-a%] fazeiyor Fgifdd fhad defia g 2

A. Ul BT AT

B. Ui dl (de) 3R Udian! &1 I
C. Tsal 3R b edAral &l fa=eryuy
D. W 3R Udhe [qygad &1 g4

i 16U U fdeedl | U Ug] 3R &1 99 HIfoIe:
1. $ad A, B, C, D

B O R

1[Option ID=30337] Question Description : public_admi_public admin_set 1_english_q60
2[Option ID=30338]
3[Option ID=30339]
4[Option ID=30340]

Sl. No.61
QBID:114061

Which of the following factors effects the reliability of a Research Instrument?

A. The wording of questions

B. The physical setting

C. The respondents mood

D. The nature of interaction

E. The regression effect of an instrument

Choose the correct answer from the options given below:

.A B, C,D only

.B. C,D and E only

. A, C,D and E only
.A,B,C,D and E only
(1) 1

(2) 2

(3) 3

(4) 4

B O R




FafaRad § 9 $H-0 dRE, {6 2y foRad (T1eH) & [ag9-1aal IR UHd STadl g 2

A. U4l B Tea1gel!

B. Hifd® gRawr

C. Ufddicl & g-ien

D. 3{=A1-9-fh a1 Bl Upfd

E. fh 3t ferad (@eH) &1 ufaima— yuid

I 16U U faedl | U UE] 3R &1 99 HIfoIe:

1. $ad A, B,C.D
2. $Hadd B, C,D 3R E
3.HAd A, C.D 3R E
4. BT A, B,C.DIRE
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=30341] Question Description : public_admi_public admin_set 1_english_q61
2[Option ID=30342]
3[Option ID=30343]
4[Option ID=30344]

Sl. No.62
QBID:114062

Which one of the following statements are correct regarding the difference between quantitative and qualitative research?

A. Qualitative Research emphasises on measurement or classification of variables

B. Qualitative Research emphasises on description of variables

C. Reliability and Objectivity are the dominant research values in the quantitative research
D. Qualitative Research explores experiences. meanings perceptions and feelings.

Choose the correct answer from the options given below:

A, B, Cand D only
.B, C and D only

. Aand D only

. A, Cand D only
1) 1

(2) 2

3) 3

(4) 4

FafcRad ¥ SH-4 HY TRATIES SR 0TS 2 & T R b IR T 91 g 2

A UMD 2N @RI & HTGH Y] S HR0 R a9 Gl ¢ |

B. 0TS Y, W & AR R IA a1 @ |

C. NS e F [T SR a¥g-IF e U Udd MY eI ¢ |

D. UMD QMY T Hd, 3, YRV 3R YTl i Td901 DI S ¢ |

I 14U U fdeedl | U gl 3R &1 99 HIfIE:

1. $ad A, B, C 3R D
2. HAd B, C 3R D
3. AT ASMRD
4.%ad A, C 3R D

1) 1

() 2

3) 3

4) 4

B O R

1[Option ID=30345] Question Description : public_admi_public admin_set 1_english_q62
2[Option ID=30346]
3[Option ID=30347]
4[Option ID=30348]




Sl. No.63
QBID:114063

Kenneth Andrews criticized Barnard's book 'The functions of the Executive' as

A. abstractness of the presentation

B. paucity and pedestrian quality of examples
C. difficult style

D. explanation of his own experience.

Choose the correct answer from the options given below:

. Aand B only

. A, Band C only

. A, Cand D only

. A, B, CandD only
1 1

(2) 2

3) 3

4) 4

IS BT TP & IR 31 § aoragfed Bl a1 d-1 Toegd gRI gH I H 1 E 2

A. TR BT Sl

B. JCIEXUI T 31419 3R IRy T[urar
C. BidH et

D. 304 W4 & 3Hd DI ARAT

i feu Tu fawen! # 1 Ul 3R &1 99 Difee:

B e R

1[Option ID=30349] Question Description : public_admi_public admin_set 1_english_q63
2[Option ID=30350]
3[Option ID=30351]
4[Option ID=30352]

Sl. No.64
QBID:114064

Which of the following thinkers do not make a distinction between public and private administration ?

A. Henri Fayol

B. Marry P Follett
C. L. Unwick

D. Paul H Appleby

Choose the most appropriate answer from the options given below:

. A and B only
.Band C only

. A Band C only
. A, Cand D only
(1) 1

(2) 2

3) 3

4) 4

B O R




FEfRId SH-U [aR® grdsi-e Ud sl U= & A9 UHG ) $d g 2

3. $Had A, B3R C
4. Hdd A, C 3R D
1) 1
(2) 2
(3) 3
4) 4
1[Option ID=30353] Question Description : public_admi_public admin_set 1_english_q64
2[Option ID=30354]

3[Option ID=30355]
4[Option ID=30356]

Sl. No.65
QBID:114065

Consider the characteristics of Span of Control

A. Tt is a sacrosant principle of administration

B. It is simply the numbers of subordinates that an administer can personally direct
C. It is ably described by V.A. Graicunas

D. The advent of computers has called for a revision of the concept of span of control

Choose the correct answer from the options given below:

. A and B only

. A, B and C only
.B. C and D only

. A, B, Cand D only
1) 1

(2) 2

(3) 3

(4) 4

=01 & (*0A) Bl faRiware iR [Je9R SIS |

A. U8 U= &1 U ey g g |

B. g UIHRUIHAT (e8! U gidl § o U= ol R UR ¢ 121d &R 9l ¢ |
C. 3 9. T IG5 gRI Hd dRih U aivid fhar T g |

D. SR & SANTHA A (401 &7 DI YT &b YR DI ahhdl WR a9 GA13 |

Id feu 70 faded! & § Wl IR &1 994 DIFT:
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1[Option ID=30357] Question Description : public_admi_public admin_set 1_english_q65
2[Option ID=30358]
3[Option ID=30359]
4[Option ID=30360]
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Match List I with List IT

LIST I (Technigues) LIST II (Explanation)

|0 and M I. [Technique applicable when the time required to complete project 1s not certain
. PMatrix Organization | II. [Technique for controlling and coordinating various activities

Critical Path Analvsis| IIL |Assist line officials to improve management necessary in completing a major project)
[PERT IV, |A system characterized by a form of management with mulii chain of command.

ol o|w]=

Choose the correct answer from the options given below:

. A-I, B0, C-II, D-IV
AT B-III, C-IV, D-II
CA-TV, B-II0, C-1, D-1II
AT B-IV, C-I1, D-1
1) 1
) 2
(3) 3
(4) 4

Gt 1 91 Gl 11 T el Hifore

T 1 @) T 11 (FTE
3 U3 UH 1 |08 a%-1® dd S €, Sid GRS Bl U @< & 101U HaRgdH 9ad Higd Jel ¢ |
BT e 11. [fafe Triafai el o FEau AR §9-48 & 1ol ddb-id
e A1 faRas vl [ [T WHRE Ui ol &1 U3 & o (08 HIGRGD HaleH-GUR & (070 a1g-A Sb1a] & Yerdd] ®)
NG EER) V. [0% WU, 51 HHIS &) ag-194 Y%l & Y8 & Ud & g [aRIbd &1 ol & |

1 16U U faaedl H 1 U8l 3R &1 I99 BHIfoTu -

. A-L. B-II, C-II, D-IV
. A-L B-III, C-IV, D-TI
ATV, B-111, C-1, D-TI
CA-IIL B-IV, C-I1, D-1
1) 1
(2) 2
3) 3
(4) 4

O

ofo[w[>

R N

1[Option ID=30361] Question Description : public_admi_public admin_set 1_english_q66
2[Option ID=30362]
3[Option ID=30363]
4[Option ID=30364]

Sl. No.67
QBID:114067

Match List I with List IT

LIST I (Thinkers) | LIST II (Concepts of Bureaucracy)
A [Victor Thompson| 1. [Functional Theory of Bureaucracy
B. |Warren Bennis | II. |Post-Bureaucratic Theory

C. |Robert Merton | IIL [Instrumentalist Theory

D. |[Karl Marx IV. |Bureau Pathology

Choose the correct answer from the options given below:

CA-IV. B-I1, C-1. D-III
. A-TIV, B-I1, C-II1, D-1
. A-L B-III, C-II, D-IV
AL B-1, C-IV, D-11
1) 1
) 2
(3) 3
(4) 4

e o e




el 1 T1Y i 11 BT e Pifore
Tt 1 (ER®) zas?ru(ﬂmmﬁaﬁm

A g uime | 1. Fieeel &1 Ueids [haid
B. [agstg 1. [GRAIeETe had

C. R@Ec Aeq 111 [3Uaunds [ggid
D

femams | s et Tee
i f&U U fqdhed! H U Ug! SR &1 98 HIfold -

A-IV, B-IL, C-1, D-III
A-IV, B-IL, C-1II, D-I
A-L B-III, C-II, D-IV
A-IL B-1, C-IV, D-11

e o S

(1) 1

2) 2

3) 3

4) 4

1[Option ID=30365] Question Description : public_admi_public admin_set 1_english_q67
2[Option ID=30366]

3[Option ID=30367]
4[Option ID=30368]

Sl. No.68
QBID:114068

Match List I with List IT

LIST I (Ideas) LIST II (Authors)
A_ |Bounded Rationality 1. |Abraham Maslow
B. Hawthorne Studies II. [Herbert Simon
C. [Principle of Order I11. |[Elton Mavo
D. [Self Actualization Needs| IV. [Henri Fayol

Choose the correct answer from the options given below:

A-I B-II, C-IV. D-III
A-IIL B-1IV, C-1I1, D-1
A-II, B-III, C-IV, D-1
CA-IILL B-1IV, C-1, D-11
(1) 1
) 2
3) 3
(4) 4

Tt 1 1Y Gl 11 T e Hiforg

= 1 deE) 11 ()
A [OReg dieal | L [3remgH Al
[graa= rema 11 [gele a5
HTGR P Rgd | IIL [Tee Haf
_ |3TEE SaEghany IV. [ thard

1 feu e fadet! & I Il SR &1 98- Biforu ;

A-I B-II, C-IV, D-III
A-IL. B-1V, C-1IL D-I
A-IIL B-IIT, C-IV, D-1I
A-IIT, B-IV. C-1. D-11

o

= Il 1=

N

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30369] Question Description : public_admi_public admin_set 1_english_q68
2[Option ID=30370]

3[Option ID=30371]
4[Option ID=30372]

Sl. No.69
QBID:114069




Match List I with List IT

LIST I (Authors)

LIST 1I (Books)

. IPH. Appleby

[Policy and Administration

. [WE Willoughby

. Principles of Public Administration]

. [Dwight Waldo

_|The functions of the Executive

wl [l fos] =

_ |Chester [ Barnard)

[ [The Administrative State

Choose the correct answer from the options given below:

AL B-ILL C-IV, D-III
.A-I B-1IV, C-III. D-II
. A-IL B-TV, C-1II D-1
AL B-III, C-L D-1V
1) 1

) 2

(3) 3

(4) 4

Gt 1 91 Gl 11 T el Hifore

o

T 1 (rE) T 11 (THD)
A [0 U9 tmas) | 1 [Gifad! 908 Ui e
B. [sscd. U, fadidl] I [[URUe 3% Uisid UsHE M
C. [gaEcdis! |1 [ B-hH 3 ¢ Uddagfcd
D. [d%eX 3 918 | IV [q usifaefed &

1 16U U faaedl # U gl 3R &1 99 BHIfoT -

. A-L B-II, C-IV, D-III
. A-L B-1V, C-TI1, D-TI
CA-IL B-TIV, C-TTIT D-I
AL B-IIL C-1, D-1V
1) 1

(2) 2

(3) 3

(4) 4

R N

1[Option ID=30373]
2[Option ID=30374]
3[Option ID=30375]
4[Option ID=30376]

Question Description : public_admi_public admin_set 1_english_q69

Sl. No.70
QBID:114070

Match List I with List IT

LIST I (Thinkers)
. [Rensis Likert
. |Chris Argyris
. |Peter Drucker
. IDwight Waldo

LIST II (Concepts/Term),
I
IL
1.

V.

Management 1-4

[INew Romanticism
Sensitivity Training
Generic Management

(o] le] [==1 k=

—

Choose the correct answer from the options given below:

.A-L B-III, C-IV, D-I
CA-IL B-IV, C-II1, D-1
. A-IL B-1, C-II D-IV
L A-IV, B-11, C-1, D-11I
1) 1
) 2
(3) 3
(4) 4

e




el 1 T1Y i 11 BT e Pifore
G CEINED) 11 (HHeU1/U3)
A R o

£ 1 [EeT 1-4

B. [pgaenfiy |1 o vmaag
C. [frez s 11, [Safcr w2
D [gaEe arsl |1V [BHaRe® @dim) weeH

i f&U U fqdhed! H U Ug! SR &1 98 HIfold -

. A-L B-III, C-IV, D-TI
AL B-IV, C-II1, D-1
CA-IL B-1, C-II D-IV
ATV, B-11, C-1, D-11I
1) 1
) 2
(3) 3
(4) 4

e o S

1[Option ID=30377] Question Description : public_admi_public admin_set 1_english_q70
2[Option ID=30378]
3[Option ID=30379]
4[Option ID=30380]

Sl. No.71
QBID:114071

Match List I with List IT

LIST I (Commissions/Committees) LIST II (Year)
A |[University Education Commission (5. Radhakrishnan)] I [1952-53
B. [National Knowledge Commission (Sam Pitroda) II. |1964-66
C. |[Secondary Education (A L. Mudaliar) 11 J1948-49
D. |[Education Commission (D.S. Kothari) IV. 2005-09

Choose the correct answer from the options given below:

1. A-II1. B-IV, C-1, D-II
2. A-IIL B-1, C-I1, D-1IV
3. A-IV, B-1I1, C-I D-II
4. A-IV, B-I11, C-II, D-I
) 1
() 2
(3) 3
(4) 4
Tt 1 1Y Gl 11 T e Hiforg
T 1 (ST T 11 @)
A [laxTaeTed TRa AN (@9, AU L [1952-53
B. [{Pg 34 A (&1 k) II. [1964-56
C. [T el S (U Ue. Haiod) | 11 [1948-49
D. |18 AT (3. TH. B3R v [2005-09

1 feu e fadet! & I Il SR &1 98- Biforu ;

CA-IILL B-IV, C-1. D-I
. A-III, B-1, C-II, D-IV
ATV, B-I1, C-1 D-1I

. A-IV, B-III, C-II, D-1
1) 1

(2) 2

(3) 3

(4) 4

N

1[Option ID=30381] Question Description : public_admi_public admin_set 1_english_q71
2[Option ID=30382]
3[Option ID=30383]
4[Option ID=30384]

Sl. No.72
QBID:114072




Match List I with List IT

LIST I (Name of the Act) LIST IT (Year)
A_ |The Rehabilitation Council of India Act I 1992
B. |[The PWD (Equal Opportunities, Protection of Rights and Full Participation) Act. I1. |1999
C. |The National Trust for the Welfare of Persons with Autism, Cerebral Palsy Mental Retardation and Multiple Disability Act| IIL. 1993
D. [National Commission for Safai Karamchans Act IV |1993

Choose the correct answer from the options given below:

1. A-I, B-I1, C-III, D-1IV
2. A-1, B-III, C-I1, D-1IV
3. A-1, B-III, C-1V, D-1I
4. A-I, B-IV, C-1II, D-II
1) 1
(2) 2
(3) 3
4 4
Gt 1 91 Gl 11 T el Hifore
T 1 (STUTTTH BT 19) T 11 (TW)
A MR GHdIE URug HfUHTH L [i992
B [[F:Radw (JHH HaUR, AUHR TG0 UG YUl HRETGRD) HSHTH 1L [1999
C. RTPTY SUEUTdT, UHIETSD 9Td, A Hedl 3R §g-[:Raddrid odidd edroy Arg faga| 11 1995
D. R8T 9T ®HaR] A ag V. 1993

1 16U U faaedl H 1 U8l 3R &1 I99 BHIfoTu -

. A-L. B-I1, C-IIL, D-IV
. A-L B-I1, C-II, D-IV
. A-L B-III, C-IV, D-TI
.A-L B-IV, C-III, D-1I
1) 1
(2) 2
(3) 3
(4) 4

R N

1[Option ID=30385] Question Description : public_admi_public admin_set 1_english_q72
2[Option ID=30386]
3[Option ID=30387]
4[Option ID=30388]

Sl. No.73
QBID:114073

Match List I with List IT

LIST I (Critics of F.W. Riggs) LIST II (Criticism)
A [Hahn-Been Lee 1. [Riggs has not fully work out the implication of his theory of public administration|
B. |Richard A. Chapman Il [Utility of the Prismatic society and sala model are doubtful
C. [Tilman IT1. |Adoption of wrong analytical tool borrowed from Phvsical Science
D. |Dava Krishna IV. [Riggs diffracted model 1s impracticable

Choose the correct answer from the options given below:

.A-L B-II, C-IV, D-III
. A-IL B-L C-IIL, D-IV
. A-IIL B-1V, C-1, D-11
. A-IV, B-IIT, C-II, D-1
1) 1
) 2
(3) 3
(4) 4

e o e




el 1 T1Y i 11 BT e Pifore

T 1 (SATAIH) I 11 (AT

A fereafeaa | 1 [om T ormm o u=irey & beid & TR 0R qUeUv B el [ea 6 |
U JUiH| I [gHaria v 3R 9re gide g (J18a) ®1 SudiiIal Hie g |

N GEES 1L [t faH ¥ fo70 710 s faRey e u@vl &l S0=H] |
_[em@en V. [7 @ [ iNd deim] HAEeIR® & |

i f&U U fqdhed! H U Ug! SR &1 98 HIfold -

. A-L B-II, C-IV, D-III
.A-IL B-1 C-IIL, D-IV
CA-IILL B-IV, C-1. D-1I
ATV, B-II0, C-I1, D-1
1) 1
) 2
(3) 3
(4) 4

glo|w

e o S

1[Option ID=30389] Question Description : public_admi_public admin_set 1_english_q73
2[Option ID=30390]
3[Option ID=30391]
4[Option ID=30392]

Sl. No.74
QBID:114074

Match List I with List IT

LIST I (Budgetary Concepts) [LIST II (Basic Orientation
A_ |Line Item Budgeting I Planning
B. |Performance Budgeting II. [Decision Making
C. |Planning Programming Budgeting| III. [Management
D. |Zero based Budgeting IV. [Control

Choose the correct answer from the options given below:

AL B-1IV, C-11. D-I1I
. A-IV, B-III, C-I, D-II
. A-III, B-II, C-IV, D-1
. A-II, B-1, C-IIL, D-IV
(1) 1
() 2
(3) 3
(4) 4

Tt 1 1Y Gl 11 T e Hiforg

T 1 (FoIe 1 HPean) @gmaﬁ‘uﬁmm
T3 3T3ed goic a1 i EEER
TG goic & T 1L [FoE
 |amorem ewma wee e | I [mEeE
. [BI 3HTRd §5ic M N ERER]

1 feu e fadet! & I Il SR &1 98- Biforu ;

.A-L B-1IV, C-II, D-III
.A-IV, B-III, C-1, D-TI
. A-III, B-II, C-TV, D-1
.A-IL B-1, C-IIL D-IV
1) 1
(2) 2
(3) 3
(4) 4

o

ofo]w]>

N

1[Option ID=30393] Question Description : public_admi_public admin_set 1_english_q74
2[Option ID=30394]
3[Option ID=30395]
4[Option ID=30396]

Sl. No.75
QBID:114075




Match List I with List IT

LIST I (Terms) LIST 11 (Explanation)
A |Revenue Deficit [ [Value of imported goods and services exceeds the value of exports]
B. [Fiscal Policy 11 |Generation of revenue 1s less than projected net income
C. [Fiscal Deficit II1. [Blue print of estimated taxation and government spending
D. |Current Account Deficit] IV. |Government total expenditure exceed total revenue

Choose the correct answer from the options given below:

1. A-I, B-IV, C-III, D-II
2. A-IL. B-IIL, C-TV, D-1
3. A-IL, B-1, C-III, D-IV
4. A-II. B-1V, C-1, D-III
1
(2 2
(3) 3
4 4
Gt 1 91 Gl 11 T el Hifore
T 1 (D) T 11 (TS
A Rorgaer | 1 |emEridd aegel 3R Yarsi &l 5o Fatd & 3 9 H4® sidl ¢ |
B. [remidim Hifal 1 [srgArd Had o &1 ga-1 H 8 3ed Iad g |
C. RIorb 191 9ret] 1L [$=H1Hd S 3R RPN o9 &l U] |
D. [ @ uiel | IV. fR&R &1 &d o, $a o § fi® oidl & |

1 16U U faaedl # U gl 3R &1 99 BHIfoT -

.A-L B-1IV, C-III, D-1I
. A-IL B-II1, C-TV, D-1
. A-IL B-1. C-IIL. D-IV
AL B-IV, C-1, D-IIT
1) 1
(2) 2
3) 3
(4) 4

R N

1[Option ID=30397] Question Description : public_admi_public admin_set 1_english_q75
2[Option ID=30398]
3[Option ID=30399]
4[Option ID=30400]

Sl. No.76
QBID:114076

Arrange the reforms in civil services in USA in a chronological order:

A. The Model Public Personnel Administration Law
B. Government Performance and Result Act

C. Hatch Act

D. Pendleton Act

Choose the correct answer from the options given below:

1.D.C,AB
2.C,B.D,A
3. DA C B
4.D,C, B, A

1) 1

2) 2

3) 3

(4) 4




SR ¥ fhfad arsil § URI & SIahAER Hafyd I |

A. 31e2] did eI U= fafe

B. &R &I 81 3R uRoma sfefgs
C. g9 AfugH

D. UScled ffufad

i feu e fasmedl § 9 Ul 3R &1 994 Difole:

1[Option ID=30401] Question Description : public_admi_public admin_set 1_english_q76
2[Option ID=30402]
3[Option ID=30403]
4[Option ID=30404]

Sl. No.77
QBID:114077

Arrange the following in the chronological order:

A. The Human problems of Industrial Civilization by Elton Mayo
B. A Theory of Human Motivation by Abraham Maslow

C. The Principles of Scientific Management by F.W. Taylor

D. General principles of Administration by Henri Fayol

Choose the correct answer from the options given below:

DACB
.C.D,A'B
.C,A,B,D
DG A B
1) 1
) 2
(3) 3
(4) 4

FEfaRad &1 HTAHUHYR H 8 dfRid DHIFT |

A. UeeH U1 gRT UK b1 TR 1ol § Geel qHd uwing
B. 3STgH Tl gRI UK a1 711 A4 TR0l [¥gid

C. U, 86y, ¢TR gRI Wd [dhd 11T 431 ey & R¥sid

D. B3I Hhald gRT UEd U & i g

T feu U fadmed! ¥ 9§ Yl 3R &1 994 Difole:

R Il

1.D,A,C,B
2.C,D,AB
3.C,A.B.D
4.D,C,AB
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=30405] Question Description : public_admi_public admin_set 1_english_q77
2[Option ID=30406]

3[Option ID=30407]
4[Option ID=30408]

Sl. No.78
QBID:114078




Arrange chronologically the books according to the year of their publications :

A. The Human Side of Enterprise
B. The Functions of the Executive
C. Administrative Behaviour

D. Reinventing Government

Choose the correct answer from the options given below:

FRIRGd OXID! DI Fd UHTRHA-IY & TR DIaHH H TdRd BTy :
A. T U U133 3% TS
B. € Ry S g Udoliagfed
. Tsihiwied fagfdar
D. 2= aHT=

i feu Tu fawen! # 1 Ul 3R &1 99 Difee:

1.B,C,A, D
2.B,A,C,D
3.4;B,; D, C
4. A.B,C.D

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30409] Question Description : public_admi_public admin_set 1_english_q78
2[Option ID=30410]
3[Option ID=30411]
4[Option ID=30412]

Sl. No.79
QBID:114079

Arrange chronologically the landmark judgements of Supreme Court of India :

A. Golaknath vs State of Punjab

B. S R Bommai Vs. Union of India

C. Minerva Mills vs. Union of India

D. Keshavananda Bharati vs State of Kerala

Choose the correct answer from the options given below:




URA & Jdad T & Uldgiiie Hofd! &1 Sreasa | afeyd Sifou -

A. TSI 919 YSiTe o
B. T, 3R. 913 §-11 HRd U9
c. T4l ey 941 YRa 9y
D. $RAMG YRl &4 brd Ay

i feu e fasmedl § 9 Ul 3R &1 994 Difole:

1[Option ID=30413] Question Description : public_admi_public admin_set 1_english_q79
2[Option ID=30414]
3[Option ID=30415]
4[Option ID=30416]

Sl. No.80
QBID:114080

Arrange chronologically according to the year of presentation of different reports of 284 ARC to Government of India.

A Social Capital

B. Right to Information

C. Citizen Centric Administration
D. Local Governance

Choose the correct answer from the options given below:

1.B,C,A, D
2.B,D,A,C
3.B.A.D,C
4.A,D,B,C

11

(2) 2

(3) 3

4) 4

HRA PR D! fclid iR ot faftr Ruie] o1 39 IRgfcdror a8 & FUR BIarsH H afRid $1fy :

A. gHIfSIH doit

B. Ydl &I 3HUHR

C. VRS hi-<d U
D. VI A

i feu e fadmed! ¥ 9§ Ul 3R &1 994 Difole:

1[Option ID=30417] Question Description : public_admi_public admin_set 1_english_q80
2[Option ID=30418]
3[Option ID=30419]
4[Option ID=30420]

Sl. No.81
QBID:114081




Arrange in chronological order the institution of committees on Panchayati Raj :

A. L.M. Singhvi Committee

B. Balwant Rai Mehta Committee
C. GVK Rao Committee

D. Ashok Mehta Committee

Choose the correct answer from the options given below:

1.B,C, D, A
2.B,D,C,A
3.B,A,C,D
4.B,A.D. C

1) 1

(2) 2

(3) 3

(4) 4

eIl 37t TR e S @ e B Srersd T Sareyd i :

A. U9, 9. [¥udt gfafd
B. dalddv Hgdl

C. Sitdidh 14 Iffd

D. 3XM® Hgdl Ififd

i feu Tu fawen! # 1 Ul 3R &1 99 Difee:

1[Option ID=30421] Question Description : public_admi_public admin_set 1_english_q81
2[Option ID=30422]
3[Option ID=30423]
4[Option ID=30424]

Sl. No.82
QBID:114082

Arrange the following committees on Tax reforms/disinvestment in chronological order:

A. Disinvestment Commission under G.V. Ramakrishna
B. Vijay Kekar Committee on Direct Taxes

C. Raja Chelliah Committee on Tax reforms

D. K.L Rekhi Committee on Indirect Taxation

Choose the correct answer from the options given below:




H-GYRT AR fafae R FafaRad afafaal &1 SrasaraR safd Sife |

A. ol 91 IHeW1 & Sfqifd faaw s
B. U8 I3 WR a1y e A

C. DR-GURT TR IS ol WA

D. YT HYH U &. Ud. ¥l i

i feu e fasmedl § 9 Ul 3R &1 994 Difole:

1.C,A,B.D
2.C,B,A,D
3.C.D,A'B
4.C,D,B,A
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=30425] Question Description : public_admi_public admin_set 1_english_q82
2[Option ID=30426]

3[Option ID=30427]
4[Option ID=30428]

Sl. No.83
QBID:114083

Identify the chronological order in which the following Employment Generation schemes were launched in India

A. Aatmanirbhar Bharat Rojgar Yojana
B. P.M. Rojgar Protsahan Yojana

C. National Rural Livelihood Mission
D. P.M. Mudra Yojana

Choose the correct answer from the options given below:

1.C,A,B,D
2.C,B,A,D
3.C,D.B. A
G DB

1) 1

) 2

(3) 3

(4) 4

39 BIABH Bl UgaH I, fogH YR H Fgfeiad ISR Iad AisH-1d UR™ &1 TS ot |
A. ATAMH YR ISHR TISH1

B. Ul. TH. ISR I TioH]
C. ST IrHIoT sfreiifaent =M
D. Ul UH. g1 giei1

d feu U fadmed! ¥ 9§ Yl 3R &1 994 DifolE:

1[Option ID=30429] Question Description : public_admi_public admin_set 1_english_q83
2[Option ID=30430]
3[Option ID=30431]
4[Option ID=30432]

Sl. No.84
QBID:114084




Chronologically arrange the passing of Amendments to the Constitution of India concerning the following subjects.

A. Constitutional status to National Commission for Backward classes

B. Restrict the size of the Council of Ministers to 15 percent of Legislature
C. Ten percent of Reservations to Economically Weaker Sections (EWS)
D. Promotion of Cooperative Societies

Choose the correct answer from the options given below:

(4) 4

FafciRgd fawal ¥ defid YR Tfae & Tikd G=NeHE! S Brb AR oaaid S :

AP U el 91 SmanT &l dautHe aof

B. B3 URNE & HR & a4 HUSd & 15 Ufard deb Hifid &3
C. A& U Y AR a7 bl ¢ Ud=Id R

D. YgHR! GHfaal &f Uieargd

i feu Tu fawen! # 1 Ul 3R &1 99 Difee:

1.B,A,C,D
2.B,D.AC
3.D.B.AC
4.D,B,C,A

) 1

(2 2

(3) 3

4) 4

1[Option ID=30433] Question Description : public_admi_public admin_set 1_english_q84
2[Option ID=30434]
3[Option ID=30435]
4[Option ID=30436]

Sl. No.85
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Arrange the following steps of Research Process in a sequential order:

A. Formulating a Research Problem

B. Conceptualizing a Research Design

C. Constructing an instrument for Data Collection
D. Selecting a sample

E. Writing a Research Proposal.

Choose the correct answer from the options given below:

1.E,A,B,C,D
2.A,B,C,D.E
3.E,A,C,B,D
4. AE B, C.D

(1) 1

) 2

(3) 3

(4) 4




YUl b ARfeiRad IRl &I 3ehH <71 Y HafRd DI |

A. TMY-JHE] BT GHAIDHR] B

B. TMY (S &1 UL BT

C. GU-9YgUI g : UDRIUID] AT B0
D. Ufdga &1 994

E. RM%-YRT19 e

I 16U U fdeedl | U UE] 3R &1 99 HIuIe:

.E,A,B,C,D

ole

N g
o0 m

|

2.A,
3:E.
4. A,

o ¥

N
cu
N

o

1[Option ID=30437] Question Description : public_admi_public admin_set 1_english_q85
2[Option ID=30438]
3[Option ID=30439]
4[Option ID=30440]
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Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: To Kautilya, 'danda’, the symbol of authority, is to make people devoted to righteousness.

Reason R : Authority is to be obeyed by the people on account of sanctions behind orders and the position of the officer who
issues authority.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both A and R are correct and R is the correct explanation of A

. Both A and R are correct but R is not the correct explanation of A
. A Is correct but R is not correct

. A Is not correct but R is correct

(1) 1

(2) 2

3) 3

(4) 4

A1 &l ®Y AU U §: Udh MUY (Assertion A) & U H [RId § ol IR IUh HRUI (Reason R) & ¥ H:
HUDHYT A : HIfC & 3UR, UTUHR $I Uddidh GUS' AU &b fere <ivi &l gufdd a1 gg gidi g |

BRUIR : AR 3R I AfBIRal & Ul # GlAfgd InfEeri & RN 6T 39 UIfUSBR ST Ulel T 18T, S
T ART TR FRAG |

SWRIc] B & Hdld 4, Hid fau MU fddh el o 3 Y98 3ugdd IR &1 994 DI |

CARRGHIUEI§ 3R R, A DI UgI ARAT
AR RGHI T8I 8. BT R, A I gl ARAT 81 §
ATGI gl R UG ol ©

ATS T APIR TG

@ 2

3) 3

4) 4

e A

B R

1[Option ID=30441] Question Description : public_admi_public admin_set 1_english_q86
2[Option ID=30442]
3[Option ID=30443]
4[Option ID=30444]
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Given below are two statements:

Statement I: Joint Sitting of Parliament cannot be resorted to passing Constitution Amending Bill.
Statement II : Speaker of Lok Sabha will preside at the joint sitting.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct

. Both Statement I and Statement II are incorrect

. Statement [ is correct but Statement II is incorrect
. Statement [ is incorrect but Statement is correct
(1) 1

(2) 2

3) 3

4) a

TRaHyTfeuug:

DY 1 : YT TN foed TR B & 1T T D1 GG 96 -Tgl seils o Goball ¢ |
DY 11 : GG 96D B SHE AU & D |

SWIdd B & el o, i 76U U [dbedl ¥ 4 gad 3ugdd IR &1 99 BT

1. Y1 3R I &l ggl @
2. Y1 AR I GH Tad
3. HYF 1981 8. dlihd HUT 1 7eTd ©
4. B 17Tdd g, dfded dYT 11 Tl g
1) 1
(2) 2
3) 3
4) 4

e

1[Option ID=30445] Question Description : public_admi_public admin_set 1_english_q87
2[Option ID=30446]
3[Option ID=30447]
4[Option ID=30448]
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Given below are two statements:

Statement I: The budget is prepared based on gross estimates and not net estimates.

Statement II : It makes the Parliamentary control over expenditure effective.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct

. Both Statement I and Statement II are incorrect

. Statement I is correct but Statement II is incorrect
. Statement I is incorrect but Statement is correct
1) 1

(2) 2

(3) 3

(4) 4

N




I T e AT e g:

DY 1 : golc Yobdl A b YR W qGR b1 A1 8, 9 fob (Had e IR |
HYUT 11 : TG oI IR YH {1201 T UHTdl I |

SWRIdd B & el H, i GU U fdbedl § 4 a4 3ugdd IR &1 99+ HIfIT:

1. YT 1R I SH TG &
2. HYA1 3R 1 gHl TTad §
3. HYA 1951 §, b HUT A §
4. %Y 177dd . Afbd HU 11 98l 8
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=30449] Question Description : public_admi_public admin_set 1_english_q88
2[Option ID=30450]
3[Option ID=30451]
4[Option ID=30452]
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Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: All public policy innovations are rooted in timing and in democracy timing is hallmark of state craft.
Reason (R) : Timing is essential for any organization as it is not a machine but an organism.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both A and R are correct and R is the correct explanation of A

. Both A and R are correct but R is not the correct explanation of A
. A s correct but R is not correct

. A s not correct but R is correct

1) 1

(2) 2

(3) 3

(4) 4

AId 1 Y AU U &: Uh 3BT (Assertion A) & =0 H {e1fd g Tl GE IUD BRI (Reason R) & Y H:
HHYT A : Gl diep ife Fa=R gug d [Aigd 2R didda o 90y I4-RIed ($10e) & glauidh gid 3 |
DRUIR : GO f il Hft G118+ g HATGRGD BIdl § il b Ug Big A2 gi g dfch Th Sl g |

SWIdd Y & 3l H, i ST U fdbedl § Y YU 3Ugdd TR &1 99 BT |

1. A3RRGHI Tl g 3R R, A DI TE AT §
2. AR R G TRl €. AfBT R, A DI TSI ARS8 ©
3. AR B APIR USRI §
4 AT IS g AP R TG ©
o »
3) 3
(4) 4

S O N

1[Option ID=30453] Question Description : public_admi_public admin_set 1_english_q89
2[Option ID=30454]
3[Option ID=30455]
4[Option ID=30456]
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Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Good governance ensures the sustainability and equal distribution of fruits of economic development.
Reason R : Accountability of public functionaries is an integral part of any good governance architecture.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both A and R are correct and R is the correct explanation of A

. Both A and R are correct but R is not the correct explanation of A
. A is correct but R is not correct

. A is not correct but R is correct

(1) 1

(2) 2

(3) 3

(4) 4

AT T YA GU T §: U SAUDYT (Assertion A) P 0 H [RIT € 1 GURT 3UD DRI (Reason R) B T T:
SHYDHUA A - G, 31 B & TRUIH] &1 GIRUTHAT U FHH fdav0l & GHiEd HRA1© |

DRUIR : did YUYl i Sdrdcg! [dhdl i GG a1 Gued oI 7= ST gidi ¢ |

SWRIdd By & 3Hielied H, i fGU U fddbedl 7 9 Yad 3ugdd Iok &1 99 BT |

1. AR RGH UG § 3R R, A DI UG ARAT ¢

2. A 3R R GHl TE1 €. dfd- R, A DI Tg! AR el ©
3. ARl § AT R UTT TRl ©

4. ATGI TR g dlPAR TSI ©

(1) 1
(2) 2
(3) 3
(4) 4

S R

1[Option ID=30457] Question Description : public_admi_public admin_set 1_english_q90
2[Option ID=30458]
3[Option ID=30459]
4[Option ID=30460]
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Read the following passage and answer the questions:

The bases for an optimum model for policy making are (1) increasing rationality-content through more explication of goals
and search for new alternatives. (2) Extra-rational processes play a significant role in optimal policy making. This is because
of lack of resources and capacity for complete rationality. Intuitive judgement, holistic impressions derived from a situation
and creative invention of new alternatives are illustrations of extra rational process (3) These phases can be improved by
case discussions, sensitivity sessions and 'brain storming'. Similarly the rational policy making process can be improved by
increasing the input (time), knowledge and qualifications of policy practitioners and setting up 'think' units. (4) Policy
making in modern states follow precedents, 'incremental change', 'muddling through', inertia and routine. Compared with
the rate of change in problems faced by policy-knowledge on policy making process itself is lagging behind.

A reprocessing of both the "comprehensive rationality" and the "successive limited comparison" models may results in a
normative - optimum model of policy making which includes clarification of values, objectives and decision criteria.

- Identification of alternatives and a conscious effort to consider new alternatives helps to stimulate creative alternative
innovation.

- Preliminary estimation of minimal risk or a strategy of innovation is preferable.

- If the first, the "successive limited comparison' model should be followed, the next element is considering possible results
of alternative policies and identification of expected results, relying on available knowledge and intuition.

- Theory and experience, rationality and extra rationality are relied, depending upon their availability and the nature of the
problem.

- Explicit arrangements are made to improve the quality of policy making through systematic learning from experience.

fgferiRad e & ufed 3R SuY Usfid ust & 3w <ifvg

Hifd-faior g SPaa AiSd & YR : (1) &l & 3Hi¥d TWYIH0 gRI dbaid - [avy a¥d § gfg A1 qur=1d
fadedl DI TR DA | (2) MdRed - dhdTd Ulchar s¥ad Hifd-Fai 8 agayul Yfid Ay g | g8 guf difddadr
& TeTq SHTeT 3R & & 3(HTd D SR gldl & | 2Adsiid FeoigHd [0ig, Jry siftieafaaal fbdl e § Jaa g3 ¢
3R 7Y fadedl & Yoi-TdHE SMIShR SAfdRad dehuird Uiharadl & e¥id g | (3) U Ha=TE UHUl-faHzl,
Sffdtde=iTad Tl 3R Wﬂﬂfﬁﬁﬂﬁ@ﬂﬁ%lwmaﬁmﬁﬁﬁmmaﬁ:ﬂﬁﬁmﬁﬂ
D dTed I & (921 (FHY), 319 U4 Gl § g Ul [9aR ghisal &1 RIMHT gR139d [l Sl 9l 8 | (4)
mefd ot § ifa-Fafor & gd =via, eifiad ufad @wid o), TS o, srsdr ok Afds () o
S{UTeH far STl § | =ifd §RT 91 $1 SH aTell Sasii § uRdd= &3 & g1 |, =ifd Faior i Jeeh 3=
U AU g3 gall g |

Gl ATSdl, ‘AU diidbddr R Fardd! GiHd Jo-r, ST gTibH Hifd-Fafu & gHe gvaq alsd & u o
gRoTd g Ul g, S geal, Se=al o Fofa & Arest § i weieor ufifad giarg |

- T4 f[dh el R [99R & & o0 [qdh el Ud U Tda- UaTg &1 UgdH &Rl YoidlHD ddbicdd TdER &l Jeiiud
HY H Jgradl Hdl o |

- AdH SIRGH 1 FaTdR @1 UHIT & YRS b ol aigd &l Sl g |

- e qauyH IoRad! e gaHr 1S &1 SureH [ ofiF1 d1igu, df dabieta il Td sufér gRomal &
UgdH & U H 3Td] Td W [TaR a1 1 8, S Suasy M U9 Sid:07 R R Harg |

%ﬁl@a’@ 344, difchebdl 3R HfdRad difcherar MY gidil 8. Sl 37! SUTedT Ud HET &1 Yhfd R 1R Sl
4
- 3FHd ERT YHARIT HETH & Hrey ¥ Aifd-faior &1 urad & GUR & U Yy JaRN §-12 715 ¢ |

Which one of the following is pot an assumption for optimum model for policy making?

1. To increase rationality - content
2. Intuitive judgement as extra - rational content
3. Adoption of 'muddling through'
4. Sensitivity sessions and 'brain storming'.
1) 1
(2) 2
3) 3
(4) 4




frafciRad d 9 &= 91 Hifd (Aaiu gd 3vdu disd &l gaigaE =8 ¢ 2

1. b favasd ® gl =1

2. ARG Al [qwdad & U | siasiid Ggad Hui

3. TSI U BT FTHR HIAT

4. 3T YdgA=Idd U9 Ud f[9gR Hy=

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=30461] Question Description : public_admi_public admin_set 1_english_q91
2[Option ID=30462]

3[Option ID=30463]
4[Option ID=30464]
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Read the following passage and answer the questions:

The bases for an optimum model for policy making are (1) increasing rationality-content through more explication of goals
and search for new alternatives. (2) Extra-rational processes play a significant role in optimal policy making. This is because
of lack of resources and capacity for complete rationality. Intuitive judgement, holistic impressions derived from a situation
and creative invention of new alternatives are illustrations of extra rational process (3) These phases can be improved by
case discussions, sensitivity sessions and 'brain storming'. Similarly the rational policy making process can be improved by
increasing the input (time), knowledge and qualifications of policy practitioners and setting up 'think' units. (4) Policy
making in modern states follow precedents, 'incremental change', 'muddling through', inertia and routine. Compared with
the rate of change in problems faced by policy-knowledge on policy making process itself is lagging behind.

A reprocessing of both the "comprehensive rationality" and the "successive limited comparison" models may results in a
normative - optimum model of policy making which includes clarification of values, objectives and decision criteria.

- Identification of alternatives and a conscious effort to consider new alternatives helps to stimulate creative alternative
innovation.

- Preliminary estimation of minimal risk or a strategy of innovation is preferable.

- If the first, the "successive limited comparison' model should be followed, the next element is considering possible results
of alternative policies and identification of expected results, relying on available knowledge and intuition.

- Theory and experience, rationality and extra rationality are relied, depending upon their availability and the nature of the
problem.

- Explicit arrangements are made to improve the quality of policy making through systematic learning from experience.

fgferiRad e & ufed 3R SuY Usfid ust & 3w <ifvg

Hifd-faior g SPaa AiSd & YR : (1) &l & 3Hi¥d TWYIH0 gRI dbaid - [avy a¥d § gfg A1 qur=1d
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Sffdtde=iTad Tl 3R Wﬂﬂfﬁﬁﬂﬁ@ﬂﬁ%lwmaﬁmﬁﬁﬁmmaﬁ:ﬂﬁﬁmﬁﬂ
D dTed I & (921 (FHY), 319 U4 Gl § g Ul [9aR ghisal &1 RIMHT gR139d [l Sl 9l 8 | (4)
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U AU g3 gall g |

Gl ATSdl, ‘AU diidbddr R Fardd! GiHd Jo-r, ST gTibH Hifd-Fafu & gHe gvaq alsd & u o
gRoTd g Ul g, S geal, Se=al o Fofa & Arest § i weieor ufifad giarg |
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4
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Which one of the following are features of decision criterion ?

A Identification of alternatives
B. Evaluation of minimal risk
C. Avoidance of innovation

D. Comprehensive analysis

Choose the correct answer from the options given below:

.A B, C,D only
. A, B, Conly

. A B, D only
.B. C.D only
(1) 1

(2) 2

3) 3

(4) 4

FoaAFEs &f [Avdu FgfaRad 9 P I g 2

A. fgwel &1 ygaH

B. GAdH SifGH &1 Tedidh-
C. IR BT URER

D. AU [du0]

i 16U U feedl | U Ug] 3R &1 99 IfoIe:
1. $ad A, B,C, D

B R

1[Option ID=30465] Question Description : public_admi_public admin_set 1_english_q92
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Read the following passage and answer the questions:

The bases for an optimum model for policy making are (1) increasing rationality-content through more explication of goals
and search for new alternatives. (2) Extra-rational processes play a significant role in optimal policy making. This is because
of lack of resources and capacity for complete rationality. Intuitive judgement, holistic impressions derived from a situation
and creative invention of new alternatives are illustrations of extra rational process (3) These phases can be improved by
case discussions, sensitivity sessions and 'brain storming'. Similarly the rational policy making process can be improved by
increasing the input (time), knowledge and qualifications of policy practitioners and setting up 'think' units. (4) Policy
making in modern states follow precedents, 'incremental change', 'muddling through', inertia and routine. Compared with
the rate of change in problems faced by policy-knowledge on policy making process itself is lagging behind.

A reprocessing of both the "comprehensive rationality" and the "successive limited comparison" models may results in a
normative - optimum model of policy making which includes clarification of values, objectives and decision criteria.

- Identification of alternatives and a conscious effort to consider new alternatives helps to stimulate creative alternative
innovation.

- Preliminary estimation of minimal risk or a strategy of innovation is preferable.

- If the first, the "successive limited comparison' model should be followed, the next element is considering possible results
of alternative policies and identification of expected results, relying on available knowledge and intuition.

- Theory and experience, rationality and extra rationality are relied, depending upon their availability and the nature of the
problem.

- Explicit arrangements are made to improve the quality of policy making through systematic learning from experience.
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Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Quality of policy making can be improved through learning from experiences.

Reason R : Theory and experience are to be relied upon depending on their availability and the nature of the problem.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both A and R are correct and R is the correct explanation of A

. Both A and R are correct but R is not the correct explanation of A
. A is correct but R is not correct

. A is not correct but R is correct

(1) 1

(2) 2

3) 3

(4) 4

AT T DY GU T §: Ud DY (Assertion A) P 0 H [RIT € 1 GURT 3UD DRI (Reason R) H T T:
HITHY A - A0 DT UG DI 34 GRT SHTH & T U IAd (601 Sl Ghdl 6 |

DRUIR : TSI 3R g 3d gid g Sl 3! SUdsydl AR YR B Yhid W AR Rl g |

SWRIdd By & 3Hielied H, i fGU Y fddbedl # 9 a8 Sugdd Iok &1 99 BT |

1. AR REGH UEI § 3R R, A DI UG ARAT ¢

2. A 3R R Gl O8I §. Tfd R A ®I U5 AR i ©
3. ARl 8 AT R UTT TRT ©

4. AT TR g dlPAR TSI ©

(1) 1
(2) 2
(3) 3
(4) 4

R S R
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Read the following passage and answer the questions:

The bases for an optimum model for policy making are (1) increasing rationality-content through more explication of goals
and search for new alternatives. (2) Extra-rational processes play a significant role in optimal policy making. This is because
of lack of resources and capacity for complete rationality. Intuitive judgement, holistic impressions derived from a situation
and creative invention of new alternatives are illustrations of extra rational process (3) These phases can be improved by
case discussions, sensitivity sessions and 'brain storming'. Similarly the rational policy making process can be improved by
increasing the input (time), knowledge and qualifications of policy practitioners and setting up 'think' units. (4) Policy
making in modern states follow precedents, 'incremental change', 'muddling through', inertia and routine. Compared with
the rate of change in problems faced by policy-knowledge on policy making process itself is lagging behind.

A reprocessing of both the "comprehensive rationality" and the "successive limited comparison" models may results in a
normative - optimum model of policy making which includes clarification of values, objectives and decision criteria.

- Identification of alternatives and a conscious effort to consider new alternatives helps to stimulate creative alternative
innovation.

- Preliminary estimation of minimal risk or a strategy of innovation is preferable.

- If the first, the "successive limited comparison' model should be followed, the next element is considering possible results
of alternative policies and identification of expected results, relying on available knowledge and intuition.

- Theory and experience, rationality and extra rationality are relied, depending upon their availability and the nature of the
problem.

- Explicit arrangements are made to improve the quality of policy making through systematic learning from experience.
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U AU U3 8ol g |

Gl ATSdl, ‘AU diidbddr R Fardd! GiHd Jo-r, ST gTibH Hifd-Fafu & gHe gvaq alsd & u o
gRuTd g Ul g, S geal, Se=al o Fofa & Arest § Heida weieor ufifad giarg |

- T4 f[dh el R [99R & & o [dd el Ud U Gda- UaTg &1 UgdH &Rl UoidlHS ddbicdd TdhaR &l Jeiiid
H H Jgrad B © |

- AdH SIRGH 1 FaTdR @1 UHIT & YRS b ol aigd &l Sl g |

- e qaduyH IoRad! e gaHTr A1Sd &I SuTaH [l SfF1 d1igu, df dabicta Aol Td sfufér aRomal &
UgdH & U H 3Tc] Ted W [9aR 601 ST 8, Sl Suasy M U9 07 W R $arg |

%ﬁl@a’@ 344, difchebdl 3R HfdRad difcherar MY gidil 8. Sl 37! SUTedT Ud HET &1 Yhfd R 1R Sl
4
- 3FHd ERT AR 3IfETH & Trey Y Aifd-fAaior &1 orad & GHRA & iU Yeuy RN a2 715 ¢ |




Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Actual policy making tends to follow 'incremental change' and routine.

Reason R : Compared to the rate of change in the problems faced by policy, policy making practices lag behind.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both A and R are correct and R is the correct explanation of A

. Both A and R are correct but R is not the correct explanation of A
. A is correct but R is not correct

. A is not correct but R is correct

(1) 1

(2) 2

(3) 3

(4) 4

AT T DY GU T §: Ud DY (Assertion A) P 0 H [RAT € 1 GURT 3UD DRI (Reason R) H Y T:
YD A - ARAldD Hifd AT, Sifaef aRadT 3R Afdd (FEH) & U HH & [ Y glal o |
DRUIR : Hifd gRTTAEA] 61 S drelt GEegrsf § giad- & &t ga-n | Hifd Faior & dR aiid Ues gue |
SWRIdd By & 3Hielied H, i fGU U fddbedl 7 9 Yad 3ugdd Iok &1 99 BT |

1. AR RGH UG § 3R R, A DI UG ARAT ¢
2. A 3R R GHl TE1 €. dfd- R, A DI Tg! AR el ©
3. ARl § AT R UTT TRl ©
4. AR T8 g AfbTR WET B
& 2
(3) 3
(4) 4
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Read the following passage and answer the questions:

The bases for an optimum model for policy making are (1) increasing rationality-content through more explication of goals
and search for new alternatives. (2) Extra-rational processes play a significant role in optimal policy making. This is because
of lack of resources and capacity for complete rationality. Intuitive judgement, holistic impressions derived from a situation
and creative invention of new alternatives are illustrations of extra rational process (3) These phases can be improved by
case discussions, sensitivity sessions and 'brain storming'. Similarly the rational policy making process can be improved by
increasing the input (time), knowledge and qualifications of policy practitioners and setting up 'think' units. (4) Policy
making in modern states follow precedents, 'incremental change', 'muddling through', inertia and routine. Compared with
the rate of change in problems faced by policy-knowledge on policy making process itself is lagging behind.

A reprocessing of both the "comprehensive rationality" and the "successive limited comparison" models may results in a
normative - optimum model of policy making which includes clarification of values, objectives and decision criteria.

- Identification of alternatives and a conscious effort to consider new alternatives helps to stimulate creative alternative
innovation.

- Preliminary estimation of minimal risk or a strategy of innovation is preferable.

- If the first, the "successive limited comparison' model should be followed, the next element is considering possible results
of alternative policies and identification of expected results, relying on available knowledge and intuition.

- Theory and experience, rationality and extra rationality are relied, depending upon their availability and the nature of the
problem.

- Explicit arrangements are made to improve the quality of policy making through systematic learning from experience.

fgferiRad e & ufed 3R SuY Usfid ust & 3w <ifvg

Hifd-faior g SPaa AiSd & YR : (1) &l & 3Hi¥d TWYIH0 gRI dbaid - [avy a¥d § gfg A1 qur=1d
fadedl DI TR DA | (2) MdRed - dhdTd Ulchar s¥ad Hifd-Fai 8 agayul Yfid Ay g | g8 guf difddadr
& TeTq SHTeT 3R & & 3(HTd D SR gldl & | 2Adsiid FeoigHd [0ig, Jry siftieafaaal fbdl e § Jaa g3 ¢
3R 7Y fadedl & Yoi-TdHE SMIShR SAfdRad dehuird Uiharadl & e¥id g | (3) U Ha=TE UHUl-faHzl,
Sffdtde=iTad Tl 3R Wﬂﬂfﬁﬁﬂﬁ@ﬂﬁ%lwmaﬁmﬁﬁﬁmmaﬁ:ﬂﬁﬁmﬁﬂ
D dTed I & (921 (FHY), 319 U4 Gl § g Ul [9aR ghisal &1 RIMHT gR139d [l Sl 9l 8 | (4)
mefd ot § ifa-Fafor & gd =via, eifiad ufad @wid o), TS o, srsdr ok Afds () o
S{UTeH far STl § | =ifd §RT 91 $1 SH aTell Sasii § uRdd= &3 & g1 |, =ifd Faior i Jeeh 3=
U AU g3 gall g |

Gl ATSdl, ‘AU diidbddr R Fardd! GiHd Jo-r, ST gTibH Hifd-Fafu & gHe gvaq alsd & u o
gRoTd g Ul g, S geal, Se=al o Fofa & Arest § i weieor ufifad giarg |

- T4 f[dh el R [99R & & o0 [qdh el Ud U Tda- UaTg &1 UgdH &Rl YoidlHD ddbicdd TdER &l Jeiiud
HY H Jgradl Hdl o |

- AdH SIRGH 1 FaTdR @1 UHIT & YRS b ol aigd &l Sl g |

- e qauyH IoRad! e gaHr 1S &1 SureH [ ofiF1 d1igu, df dabieta il Td sufér gRomal &
UgdH & U H 3Td] Td W [TaR a1 1 8, S Suasy M U9 Sid:07 R R Harg |

g@l@ﬁ@ Y4, qrfdepdr 3R 3ifaRad difddrar 2f%d gidl 8, Sl 39! Sudsddl Ud 01 1 Udhid TR (1R ddl
4

- 3FHd ERT YHARIT HETH & Hrey ¥ Aifd-faior &1 urad & GUR & U Yy JaRN §-12 715 ¢ |

Reprocessing 'Comprehensive Rationality' and "Successive Limited Comparison" models result in for policy
making.

1. Rational model

2. Extra-rational model

3. Incremental model

4. Normative-optimum model
(1) 1
(2) 2
3) 3




4) 4

F

Hifa fafur 8q omud difdbadr SR Faradt Sifd doFr giedl o1 g A4l

1. dhETd Higd
2. HART THUITd HiSd
3. 3ffiygef Arsd
4, WP 3PAH HISd
1) 1
(2) 2
(3) 3
4) 4
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Read the passage and answer the following questions :

Many critics of post-war comparative public administration have argued that western administrative models imposed largely
western-centric and were often inappropriate for many non-western countries. Cross regional and cross-national comparative
studies in public administration began to receive greater intellectual attention starting from the early 1990s.

Firstly, a major challenge to cross-national comparisons in public administration is the pervasive ideational framework
rooted in western traditions imitated in many non-western settings. During the colonial period. various widely known pre-
colonial administrative traditions (e.g. Confucian, Indian, Persian and Ottoman) were replaced or restructured. In Asia,
colonial role led to the replacement of pre-colonial governing systems and the imposition of British, American and French
administrative systems. To various degrees, common priorities were given to bureaucratic principles such as rules,
impersonal order often were found their roots in Chinese bureaucracy. Moreover, British, French and Prussian reforms took
inspiration from Chinese systems.

‘What makes this a challenge to comparative administrative studies is that such western-centric conceptual categories often
do not have corresponding conceptual roots in non-western societies, thus limiting scholars in pursuing contextually rich
cross-national comparisons. Without tested and proved contextualization, comparative studies of borrowed concepts tend to
become parochial.

Second challenge to CPA is that its positivist epistomological underpinning and methodological design prioritizing the
objectives of building universal knowledge based on scientific validity and empirical research tools. To establish such
universal knowledge there is a dominant tendency to take context-based specific administrative experiences. In this regard,
suggests that "there is an unmistakable bias in American administrative sciences to idolize a specific positivist, type of
knowledge".
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Post-war comparative administration is criticized because:

1. Administrative reforms failed
2. Western models were imposad
3. Cross-national studies were promoted
4. Bureaucracy was ineffective
(1) 1
(2) 2
(3) 3
(4) 4




SRR JeIED TR &1 T SMelra=1 $i Sl § 2

1. UM% YR fdhd gl U Y |

2. Ui AISe YU U Y |

3. SAURIITPIT gl DI Uiedfed fbar mar o |
4. TIpRMET THTET 2t |

(1) 1

(2) 2

(3) 3

(4) 4
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Read the passage and answer the following questions :

Many critics of post-war comparative public administration have argued that western administrative models imposed largely
western-centric and were often inappropriate for many non-western countries. Cross regional and cross-national comparative
studies in public administration began to receive greater intellectual attention starting from the early 1990s.

Firstly, a major challenge to cross-national comparisons in public administration is the pervasive ideational framework
rooted in western traditions imitated in many non-western settings. During the colonial period. various widely known pre-
colonial administrative traditions (e.g. Confucian, Indian, Persian and Ottoman) were replaced or restructured. In Asia,
colonial role led to the replacement of pre-colonial governing systems and the imposition of British, American and French
administrative systems. To various degrees, common priorities were given to bureaucratic principles such as rules,
impersonal order often were found their roots in Chinese bureaucracy. Moreover, British, French and Prussian reforms took
inspiration from Chinese systems.

‘What makes this a challenge to comparative administrative studies is that such western-centric conceptual categories often
do not have corresponding conceptual roots in non-western societies, thus limiting scholars in pursuing contextually rich
cross-national comparisons. Without tested and proved contextualization, comparative studies of borrowed concepts tend to
become parochial.

Second challenge to CPA is that its positivist epistomological underpinning and methodological design prioritizing the
objectives of building universal knowledge based on scientific validity and empirical research tools. To establish such
universal knowledge there is a dominant tendency to take context-based specific administrative experiences. In this regard,
suggests that "there is an unmistakable bias in American administrative sciences to idolize a specific positivist, type of
knowledge".

FgfeRad e &1 Ue 3R 39 16 fau Uel & I ¢ |

JsR ga-IdID did YIS & 3D HTalgadi - dob e g fob Uit 7Tu ufgedl u=myiie Arlsed (Hew) sidaizaar
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Comparative public administration gave priority to:

. Non-identical framework

. Developed societies

Bureaucratic principles

Strengthening pre colonial systems of governance.

:.th.ul*..)l—

11
() 2
(3) 3
4) 4




q-IHD Tl TR A fh ! Uriffadr dt 2

1. AR =UeEl

2. o A

3. AIdHTe! el [Hgia

4. T D1 Yd- U Jonierd! &l Heidd B0
(1) 1

(2) 2

3) 3

(4) 4
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Read the passage and answer the following questions :

Many critics of post-war comparative public administration have argued that western administrative models imposed largely
western-centric and were often inappropriate for many non-western countries. Cross regional and cross-national comparative
studies in public administration began to receive greater intellectual attention starting from the early 1990s.

Firstly, a major challenge to cross-national comparisons in public administration is the pervasive ideational framework
rooted in western traditions imitated in many non-western settings. During the colonial period. various widely known pre-
colonial administrative traditions (e.g. Confucian, Indian, Persian and Ottoman) were replaced or restructured. In Asia,
colonial role led to the replacement of pre-colonial governing systems and the imposition of British, American and French
administrative systems. To various degrees, common priorities were given to bureaucratic principles such as rules,
impersonal order often were found their roots in Chinese bureaucracy. Moreover, British, French and Prussian reforms took
inspiration from Chinese systems.

‘What makes this a challenge to comparative administrative studies is that such western-centric conceptual categories often
do not have corresponding conceptual roots in non-western societies, thus limiting scholars in pursuing contextually rich
cross-national comparisons. Without tested and proved contextualization, comparative studies of borrowed concepts tend to
become parochial.

Second challenge to CPA is that its positivist epistomological underpinning and methodological design prioritizing the
objectives of building universal knowledge based on scientific validity and empirical research tools. To establish such
universal knowledge there is a dominant tendency to take context-based specific administrative experiences. In this regard,
suggests that "there is an unmistakable bias in American administrative sciences to idolize a specific positivist, type of
knowledge".
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Which of the following are the challenges to studies in CPA ?

A. Building universal knowledge

B. Bias towards American administration

C. Contextualization of conecepts in specific conditions
D. Absence of empirical evidence.

Choose the correct answer from the options given below:

A, B, Conly
.B, C.D only
.A. C,Donly
A, B.C,Donly

e o ]

) 1
) 2




3) 3
4) 4

daHIdD i U= § gl & g Fafaiad o 9 o gHifaai g

A. YIS I &1 fHior
B. ARSI URIMEH & Ui gaiug
c. fafw il § Seeg-rsi ol daHido
D. AJHfd% T1ed $1 Jaffd
1 feU U fqdhed! H U U1 IR &1 99 DIfoe:

. PAd A, B, C
2. $dd B, C,D
3. HAd A, C,D
4. $AA A, B,C. D

1)1
(2) 2
(3) 3
(4) 4
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Read the passage and answer the following questions :

Many critics of post-war comparative public administration have argued that western administrative models imposed largely
western-centric and were often inappropriate for many non-western countries. Cross regional and cross-national comparative
studies in public administration began to receive greater intellectual attention starting from the early 1990s.

Firstly, a major challenge to cross-national comparisons in public administration is the pervasive ideational framework
rooted in western traditions imitated in many non-western settings. During the colonial period. various widely known pre-
colonial administrative traditions (e.g. Confucian, Indian, Persian and Ottoman) were replaced or restructured. In Asia,
colonial role led to the replacement of pre-colonial governing systems and the imposition of British, American and French
administrative systems. To various degrees, common priorities were given to bureaucratic principles such as rules,
impersonal order often were found their roots in Chinese bureaucracy. Moreover, British, French and Prussian reforms took
inspiration from Chinese systems.

‘What makes this a challenge to comparative administrative studies is that such western-centric conceptual categories often
do not have corresponding conceptual roots in non-western societies, thus limiting scholars in pursuing contextually rich
cross-national comparisons. Without tested and proved contextualization, comparative studies of borrowed concepts tend to
become parochial.

Second challenge to CPA is that its positivist epistomological underpinning and methodological design prioritizing the
objectives of building universal knowledge based on scientific validity and empirical research tools. To establish such
universal knowledge there is a dominant tendency to take context-based specific administrative experiences. In this regard,
suggests that "there is an unmistakable bias in American administrative sciences to idolize a specific positivist, type of
knowledge".
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Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Meaningful contextualization of reforms initatives in specific national circumstances is critically important.
Reason R : Borrowed concepts, without contextualization in comparative studies, tend to become parochial.
In the light of the above statements, choose the most appropriate answer from the options given below:

Both A and R are true and R is the correct explanation of A

. Both A and R are true but R is not the correct explanation of A
A Is true but R is false.

. A is false but R is true

(1) 1

(2) 2

3) 3

R e Tl




4) 4

AId 1 Y AU U &: Uh 3BT (Assertion A) & =0 H {e1fd g Tl GE IUD BRI (Reason R) & Y H:
HHBYUT A - T2y ¥y Rl & GUR 31 ugd! &1 Qredes Harifpror fuiiaed U 3 Hgaqui g |

HRUIR : JaTIdD g § Heibor & a1 g Yh et YHivf 94 &I 3R Udd gldl g |

JWRIGd HYT & 3Tl H, I fGU T [debetl § U Hel IR D1 99 DI |
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Read the passage and answer the following questions :

Many critics of post-war comparative public administration have argued that western administrative models imposed largely
western-centric and were often inappropriate for many non-western countries. Cross regional and cross-national comparative
studies in public administration began to receive greater intellectual attention starting from the early 1990s.

Firstly, a major challenge to cross-national comparisons in public administration is the pervasive ideational framework
rooted in western traditions imitated in many non-western settings. During the colonial period. various widely known pre-
colonial administrative traditions (e.g. Confucian, Indian, Persian and Ottoman) were replaced or restructured. In Asia,
colonial role led to the replacement of pre-colonial governing systems and the imposition of British, American and French
administrative systems. To various degrees, common priorities were given to bureaucratic principles such as rules,
impersonal order often were found their roots in Chinese bureaucracy. Moreover, British, French and Prussian reforms took
inspiration from Chinese systems.

‘What makes this a challenge to comparative administrative studies is that such western-centric conceptual categories often
do not have corresponding conceptual roots in non-western societies, thus limiting scholars in pursuing contextually rich
cross-national comparisons. Without tested and proved contextualization, comparative studies of borrowed concepts tend to
become parochial.

Second challenge to CPA is that its positivist epistomological underpinning and methodological design prioritizing the
objectives of building universal knowledge based on scientific validity and empirical research tools. To establish such
universal knowledge there is a dominant tendency to take context-based specific administrative experiences. In this regard,
suggests that "there is an unmistakable bias in American administrative sciences to idolize a specific positivist, type of
knowledge".
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Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Nineteenth century British and Persian administration reforms took inspiration from the rationality and
efficiency of the Chinese System.

Reason R : Western administrative concepts under colonial rule led to strengthening of pre colonial systems of governance.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both A and R are true and R is the correct explanation of A
Both A and R are true but R is not the correct explanation of A
. A is true but R is false.

A Is false but R is true
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3) 3
(4) 4
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